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Teacher’s Guide to Using the
Chapter 3 Resource Masters

The Fast File Chapter Resource system allows you to conveniently file the resources
you use most often. The Chapter 3 Resource Masters includes the core materials needed
for Chapter 3. These materials include worksheets, extensions, and assessment options.
The answers for these pages appear at the back of this booklet.

All of the materials found in this booklet are included for viewing and printing in the

Algebra 2 TeacherWorks CD-ROM.

Vocabulary Builder Pages vii—viii
include a student study tool that presents
up to twenty of the key vocabulary terms
from the chapter. Students are to record
definitions and/or examples for each term.
You may suggest that students highlight or
star the terms with which they are not
familiar.

WHEN TO USE Give these pages to
students before beginning Lesson 3-1.
Encourage them to add these pages to their
Algebra 2 Study Notebook. Remind them

to add definitions and examples as they
complete each lesson.

Study Guide and Intervention
Each lesson in Algebra 2 addresses two
objectives. There is one Study Guide and
Intervention master for each objective.

WHEN TO USE Use these masters as
reteaching activities for students who need
additional reinforcement. These pages can
also be used in conjunction with the Student
Edition as an instructional tool for students
who have been absent.

Skills Practice There is one master for
each lesson. These provide computational
practice at a basic level.

WHEN TO USE These masters can be
used with students who have weaker
mathematics backgrounds or need
additional reinforcement.

© Glencoe/McGraw-Hill

Practice There is one master for each
lesson. These problems more closely follow
the structure of the Practice and Apply
section of the Student Edition exercises.
These exercises are of average difficulty.

WHEN TO USE These provide additional
practice options or may be used as
homework for second day teaching of the
lesson.

Reading to Learn Mathematics
One master is included for each lesson. The
first section of each master asks questions
about the opening paragraph of the lesson
in the Student Edition. Additional
questions ask students to interpret the
context of and relationships among terms
in the lesson. Finally, students are asked to
summarize what they have learned using
various representation techniques.

WHEN TO USE This master can be used
as a study tool when presenting the lesson
or as an informal reading assessment after
presenting the lesson. It is also a helpful
tool for ELL (English Language Learner)
students.

Enrichment There is one extension
master for each lesson. These activities may
extend the concepts in the lesson, offer an
historical or multicultural look at the
concepts, or widen students’ perspectives on
the mathematics they are learning. These
are not written exclusively for honors
students, but are accessible for use with all
levels of students.

WHEN TO USE These may be used as
extra credit, short-term projects, or as
activities for days when class periods are
shortened.
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Assessment Options

The assessment masters in the Chapter 3
Resource Masters offer a wide range of
assessment tools for intermediate and final
assessment. The following lists describe each
assessment master and its intended use.

Chapter Assessment
CHAPTER TESTS

e Form 1 contains multiple-choice questions
and is intended for use with basic level
students.

e Forms 2A and 2B contain multiple-choice
questions aimed at the average level
student. These tests are similar in format
to offer comparable testing situations.

e Forms 2C and 2D are composed of free-
response questions aimed at the average
level student. These tests are similar in
format to offer comparable testing
situations. Grids with axes are provided
for questions assessing graphing skills.

e Form 3 is an advanced level test with
free-response questions. Grids without
axes are provided for questions assessing
graphing skills.

All of the above tests include a free-
response Bonus question.

¢ The Open-Ended Assessment includes
performance assessment tasks that are
suitable for all students. A scoring rubric
is included for evaluation guidelines.
Sample answers are provided for
assessment.

¢ A Vocabulary Test, suitable for all
students, includes a list of the vocabulary
words in the chapter and ten questions
assessing students’ knowledge of those
terms. This can also be used in conjunc-
tion with one of the chapter tests or as a
review worksheet.

© Glencoe/McGraw-Hill

Intermediate Assessment

¢ Four free-response quizzes are included
to offer assessment at appropriate
intervals in the chapter.

e A Mid-Chapter Test provides an option
to assess the first half of the chapter. It is
composed of both multiple-choice and
free-response questions.

Continuing Assessment

¢ The Cumulative Review provides
students an opportunity to reinforce and
retain skills as they proceed through
their study of Algebra 2. It can also be
used as a test. This master includes
free-response questions.

¢ The Standardized Test Practice offers
continuing review of algebra concepts in
various formats, which may appear on
the standardized tests that they may
encounter. This practice includes multiple-
choice, grid-in, and quantitative-
comparison questions. Bubble-in and
grid-in answer sections are provided on
the master.

Answers

e Page Al is an answer sheet for the
Standardized Test Practice questions
that appear in the Student Edition on
pages 150-151. This improves students’
familiarity with the answer formats they
may encounter in test taking.

e The answers for the lesson-by-lesson
masters are provided as reduced pages
with answers appearing in red.

e Full-size answer keys are provided for
the assessment masters in this booklet.
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NAME DATE PERIOD

Reading to Learn Mathematics
Vocabulary Builder

3

This is an alphabetical list of the key vocabulary terms you will learn in Chapter 3. g
As you study the chapter, complete each term’s definition or description. 5
Remember to add the page number where you found the term. Add these pages to 'i
your Algebra Study Notebook to review vocabulary at the end of the chapter. S
3

©

Vocabulary Term ol:]oll;':;e Definition/Description/Example ;5

bounded region

consistent system

constraints
N

kuhn-STRAYNTS

dependent system

elimination method

feasible region
[TTT1]

FEE-zuh-buhl

inconsistent system
5 O O

ihn-kuhn-SIHS tuhnt

independent system

(continued on the next page)
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NAME DATE PERIOD

3 / Reading to Learn Mathematics

Vocabulary Builder (continued)

Found

Vocabulary Term on Page

Definition/Description/Example

linear programming

ordered triple

substitution method

system of equations

system of inequalities

unbounded region

vertices

© Glencoe/McGraw-Hill viii Glencoe Algebra 2



3-1, Study Guide and Intervention

Solving Systems of Equations by Graphing

Graph Systems of Equations A system of equations is a set of two or more
equations containing the same variables. You can solve a system of linear equations by
graphing the equations on the same coordinate plane. If the lines intersect, the solution is
that intersection point.

Solve the system of equations by graphing. x—2y=4
x+y=-2
Write each equation in slope-intercept form.

x—2y=4 - y=%—2

NAME DATE PERIOD

x+y=-2 5 y=-x-2

The graphs appear to intersect at (0, —2).

<

CHECK Substitute the coordinates into each equation. 0

x— 2y =4 x+y

-2 0,-2)

0—-2(-2) 24 0+ (=2) 2 -2

[ 1kl

4 =410 -2 =-210

The solution of the system is (0, —2).

_ Exercises

Solve each system of equations by graphing.

ly=-X+1 2.y =2 — 2 3.y=->+3

3

|
| R

< |8

< o R

y

4.3c—y=0 a%+%:—7 6.2 —y=2

x—y=—-2 =—+y=1 2c —y = —1

© Glencoe/McGraw-Hill 119 Glencoe Algebra 2
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NAME

DATE PERIOD

3-1

Study Guide and Intervention (continued)
Solving Systems of Equations by Graphing

Classify Systems of Equations The following chart summarizes the possibilities for

graphs of two linear equations in two variables.

Graphs of Equations Slopes of Lines Classification of System | Number of Solutions

Lines intersect Different slopes Consistent and independent | One

Same slope, same

Lines coincide (same line) .
y-intercept

Consistent and dependent Infinitely many

Same slope, different

- Inconsistent
y-intercepts

Lines are parallel

None

Graph the system of equations

and describe it as consistent and independent,
consistent and dependent, or inconsistent.

Write each equation in slope-intercept form.

x—3y=6 yzéx—z
2x—y=-3 - y=2x+3

The graphs intersect at (—3, —3). Since there is one
solution, the system is consistent and independent.

_ Exercises

x—3y=6

Graph the system of equations and describe it as consistent and independent,

consistent and dependent, or inconsistent.

1.3x +y = -2 2.x +2y =5
6x + 2y = 10 3x — 15 = —6y
y y

(o] X o) X

4.2x —y =3 5.4x +y = —2

x+2 =4 2x + % = —1

y y
O X

(o) X

© Glencoe/McGraw-Hill 120

3.2x — 3y =0
4x — 6y = 3
y
(o) X
6.3x —y=2
x+y=6
y
(o] X
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NAME DATE PERIOD

Skills Practice
Solving Systems of Equations By Graphing

Solve each system of equations by graphing.

3-1

l.x =2 2.y=—-3x+6 3.y =4—3x
y y y
[e) X [e) X (o] X
4, y=4 —«x S5.y=—2x+ 2 6.y =x
y=x—2 y=%x—5 y=—-3x+4
y y y
(o] X
(o] X
(o] X
7.x +y =3 8.x—y=4 9.3x — 2y =4
x—y= 2¢x — by = 8 2c —y =1
y y y
(o] X
O X
o X

Graph each system of equations and describe it as consistent and independent,
consistent and dependent, or inconsistent.

10.y = —3x 1.y =x—5 12. 2x — 5y = 10
y=—3x+ 2 —2x + 2y = —10 3x +y =15
y y y
(o] X
o) X
o] 2 X

© Glencoe/McGraw-Hill 121 Glencoe Algebra 2
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NAME DATE PERIOD

Practice
Solving Systems of Equations By Graphing

Solve each system of equations by graphing.

1l.x -2y =0 2.x +2y =4 3.2x +y=3
9 _ gy = 1.9
y=2x—3 2 — 3y =1 y=oX T g
y y y
(o] X
(o] X (o] X
4.y —x =3 5.2x —y =6 6.5« —y =14
y = x+ 2y = -2 —2x + 6y =4

Graph each system of equations and describe it as consistent and independent,
consistent and dependent, or inconsistent.

7.2x —y =4 8y=—-—x—2 9.2y —8=x
x—y=2 x+ty=-4 y=%x+4

SOFTWARE For Exercises 10-12, use the following information.

Location Mapping needs new software. Software A costs $13,000 plus $500 per additional
site license. Software B costs $2500 plus $1200 per additional site license.

10. Write two equations that represent the cost of

Software Costs
each software. 24,000

11. Graph the equations. Estimate the break-even

) S 12,000
point of the software costs. 5
£ 8,000
'—
4,000
12. If Location Mapping plans to buy 10 additional 0 2 4 6 8 10 12 14 G6 18 20
site licenses, which software will cost less? Additional Licenses

© Glencoe/McGraw-Hill 122 Glencoe Algebra 2



3-1 Reading to Learn Mathematics
Solving Systems of Equations by Graphing

Pre-Activity How can a system of equations be used to predict sales?
Read the introduction to Lesson 3-1 at the top of page 110 in your textbook.

e Which are growing faster, in-store sales or online sales?

¢ In what year will the in-store and online sales be the same?

Reading the Lesson

1. The Study Tip on page 110 of your textbook says that when you solve a system of
equations by graphing and find a point of intersection of the two lines, you must always
check the ordered pair in both of the original equations. Why is it not good enough to
check the ordered pair in just one of the equations?

2. Under each system graphed below, write all of the following words that apply: consistent,
inconsistent, dependent, and independent.

78 G E
/A RV

Helping You Remember

3. Look up the words consistent and inconsistent in a dictionary. How can the meaning of
these words help you distinguish between consistent and inconsistent systems of
equations?

© Glencoe/McGraw-Hill 123 Glencoe Algebra 2
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Enrichment

3-1

Investments

The following graph shows the value of two different investments over time.
Line A represents an initial investment of $30,000 with a bank paying
passbook savings interest. Line B represents an initial investment of $5,000 in
a profitable mutual fund with dividends reinvested and capital gains accepted in
shares. By deriving the linear equation y = mx + b for A and B, you can predict
the value of these investments for years to come.

y
— 35
\ — )
| L \_,/"
— 30
| o)
%—25 // 8
1=
£ -2
3L A
g ‘15 ~
£ Pt
= 7
g —‘10 //
s e
e
5
0 1 2 3 4 5 6 7 8 9 x

Years Invested

1. The y-intercept, b, is the initial investment. Find b for each of the following.
a. line A b. line B

2. The slope of the line, m, is the rate of return. Find m for each of the following.
a. line A b. line B

3. What are the equations of each of the following lines?
a. line A b. line B

4. What will be the value of the mutual fund after 11 years of investment?
5. What will be the value of the bank account after 11 years of investment?
6. When will the mutual fund and the bank account have equal value?

7. Which investment has the greatest payoff after 11 years of investment?

© Glencoe/McGraw-Hill 124 Glencoe Algebra 2



NAME DATE

3-2 Study Guide and Intervention
Solving Systems of Equations Algebraically

PERIOD

Substitution To solve a system of linear equations by substitution, first solve for one
variable in terms of the other in one of the equations. Then substitute this expression into
the other equation and simplify.

Use substitution to solve the system of equations. 2x —y =9

x+3y=-6
Solve the first equation for y in terms of x.
2c —y =9 First equation
—y = —2x + 9  Subtract 2x from both sides.

y=2x—9 Multiply both sides by —1.

Substitute the expression 2x — 9 for y into the second equation and solve for x.
x + 3y = —6  Second equation
x+32x —9) = —6 Substitute 2x — 9 for y.
x +6x — 27 = —6 Distributive Property

Tx — 27 = —6 Simplify.
Tx =21 Add 27 to each side.

x =3 Divide each side by 7.
Now, substitute the value 3 for x in either original equation and solve for y. oh
2c —y =9 First equation c
283) -y =9 Replace x with 3. 8
6—-y=9 Simplify. 3
-y =3 Subtract 6 from each side. —
y = —3  Multiply each side by —1.

The solution of the system is (3, —3).

. Exercises’

Solve each system of linear equations by using substitution.

1.3x +y =17 2.2x +y=5 3.2x + 3y = -3
4x + 2y = 16 3x — 3y =3 x+ 2y =2
4, 2x —y =17 5.4x — 3y =4 6.5x +y=6
6x — 3y = 14 2¢ +y = —8 3—x=0
7.x + 8y = -2 8.2x —y=-4 Q.x —y=-2
x — 3y =20 dx+y=1 2¢ — 3y =2
10.x — 4y =14 11.x + 3y = 2 12.2x + 2y = 4
2x + 12y = 13 4 + 12y = 8 x—2y=0
© Glencoe/McGraw-Hill 125 Glencoe Algebra 2
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3-2, Study Guide and Intervention (continued)
Solving Systems of Equations Algebraically

Elimination To solve a system of linear equations by elimination, add or subtract the
equations to eliminate one of the variables. You may first need to multiply one or both of the
equations by a constant so that one of the variables has the same (or opposite) coefficient in

one equation as it has in the other.

Examp lel ¥ Use the elimination method to solve the system of equations.

2x — 4y = —26

3x —y=—-24
Multiply the second equation by 4. Then subtract | Replace x with —7 and solve for y.
the equations to eliminate the y variable. o0 — 4y = —26
2x — 4y = —26 2x — 4y = —26 2=7) —4y = —26
3x —y=—-24 Multiply by 4. 12x — 4y = —96 —14 — 4y = —26

—10x = 70 —4y = —12
x = =7 y=3
The solution is (=7, 3).

L CXxdnp le2 ¥ Use the elimination method to solve the system of equations.

3x — 2y =4
5x + 3y = —25

Multiply the first equation by 3 and the second

equation by 2. Then add the equations to
eliminate the y variable.

3x — 2y =4 Multiply by 3. 9x — 6y = 12
5x + 3y = —25 Multiply by 2. 10x + 6y = —50
19« = —38

X = -2

{ txercises ¥

Replace x with —2 and solve for y.
3x — 2y =4
3(-2)—2y=4
-6—-2y=4
—2y = 10
y=-5
The solution is (—2, —5).

Solve each system of equations by using elimination.

1.2¢ —y =17 2.x — 2y =4
3x +y =28 —x + 6y = 12
54—y =6 6.5x + 2y = 12
2 — % = —6x — 2y = —14

9.3x + 8 = —6
x—y=9

10. 5x + 4y = 12
Tx — 6y = 40

© Glencoe/McGraw-Hill

126

3.3x +4y = —-10 4. 3x —y =12
x — 4y = 2 5x + 2y = 20

7.2x +y =8 8 7x +2y=-1
3x+%y=12 4x — 3y = —13

11. —4x +y=—-12 12.5m + 2n = —8
4+ 2y =6 4dm + 3n = 2

Glencoe Algebra 2
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3-2, Skills Practice
Solving Systems of Equations Algebraically

Solve each system of equations by using substitution.

1.m +n =20 2.x + 3y = —3 3w —z=1
m-—n=—4 4+ 3y =6 2w + 3z = 12

4.3r +s=5 5.2b +3c=—4 6.x —y=1
2r —s =25 b+c=3 2x + 3y = 12

Solve each system of equations by using elimination.

7.2p —q =5 8.2 — k=3 9.3c —2d =2
3p+qg=5 3 +k=2 3c + 4d = 50
10.2f + 32 =9 11. 2x +y = -1 12. 2x —y = 12 o
f—g=2 x+2y=3 2x —y =6 m
c
©)
n
n
4
Solve each system of equations by using either substitution or elimination.
18. —r+t=5 14.2x —y = =5 15.x — 3y = —12
—2r +t=4 dc +y =2 2¢ +y =11
16.2p — 3¢ =6 17. 6w — 8z = 16 18.¢c +d =6
—2p + 3q = —6 3w — 4z = 8 c—d=0
19.2u + 4v = —6 20.3a +b = -1 21.2x +y =6
u+2v=3 —3a+b=5 3x — 2y = 16
22.3y —z=—6 23.c +2d = -2 24.3r —2s =1
-3y —z=6 —2c —5d =3 2r —3s =9

25. The sum of two numbers is 12. The difference of the same two numbers is —4.
Find the numbers.

26. Twice a number minus a second number is —1. Twice the second number added
to three times the first number is 9. Find the two numbers.

© Glencoe/McGraw-Hill 127 Glencoe Algebra 2
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3-2, Practice
| Solving Systems of Equations Algebraically

Solve each system of equations by using substitution.

L2 +y=4 2.x—3 =09 3.g+3h=8
3x +2y =1 x+2y=-1 %g+h=9
4.2a — 4b =6 5.2m +n=2=6 6.4x — 3y = —6
—a +2b=-3 5m + 6n =1 —x — 2y =17
Tu-20- 8.x — 3y = 16 9.w+ 32 =1
-u+2v=>5 -y =9 3w —5z=—4

Solve each system of equations by using elimination.

10.2r +5s=5 11.2m —n = -1 12.6x + 3y = 6
3r —s =20 3m + 2n = 30 8x + 5y = 12
13.3/ — & = 10 14.2x —y = —4 15.2¢ + h = 6
4 — k=16 —4x 2 =6 3¢ — 2h = 16
16.2t + 40 = 6 17. 3x — 2y = 12 18. 1z + 3y = 11
—¢—2 = -3 )
2x+§y=14 8 — 5y = 17

Solve each system of equations by using either substitution or elimination.

19.8x + 3y = —5 20. 8q — 15r = —40 21. 3x — 4y = 12

_ _ 1. _4,_4

10x + 6y = —13 4q + 2r = 56 X " gV =3
22.4b — 2d = 5 23.s + 3y =4 24.4m — 2p =

o +d=1 s=1 —3m + 9p =
25.5g + 4k = 10 26.0.5x + 2y =5 27.h —z=3

-3¢ — bk =17 x—2y=-8 —3h +32=6

SPORTS For Exercises 28 and 29, use the following information.

Last year the volleyball team paid $5 per pair for socks and $17 per pair for shorts on a
total purchase of $315. This year they spent $342 to buy the same number of pairs of socks
and shorts because the socks now cost $6 a pair and the shorts cost $18.

28. Write a system of two equations that represents the number of pairs of socks and shorts
bought each year.

29. How many pairs of socks and shorts did the team buy each year?

© Glencoe/McGraw-Hill 128 Glencoe Algebra 2
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3-2, Reading to Learn Mathematics
Solving Systems of Equations Algebraically

Pre-Activity How can systems of equations be used to make consumer
decisions?

Read the introduction to Lesson 3-2 at the top of page 116 in your textbook.

e How many more minutes of long distance time did Yolanda use in
February than in January?

¢ How much more were the February charges than the January charges?

e Using your answers for the questions above, how can you find the rate
per minute?

Reading the Lesson

1. Suppose that you are asked to solve the system of equations 4 — by =17
at the right by the substitution method. 3x +y=-9

The first step is to solve one of the equations for one variable
in terms of the other. To make your work as easy as possible,
which equation would you solve for which variable? Explain.

o
m
c
o
n
wn
()]
-

2. Suppose that you are asked to solve the system of equations 2x + 3y = —2
at the right by the elimination method. Tx —y =39

To make your work as easy as possible, which variable would
you eliminate? Describe how you would do this.

Helping You Remember

3. The substitution method and elimination method for solving systems both have several
steps, and it may be difficult to remember them. You may be able to remember them
more easily if you notice what the methods have in common. What step is the same in
both methods?

© Glencoe/McGraw-Hill 129 Glencoe Algebra 2
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3-2. Enrichment

Using Coordinates

From one observation point, the line of sight to a downed plane is given by

y = x — 1. This equation describes the distance from the observation point
to the plane in a straight line. From another observation point, the line of
sight is given by x + 3y = 21. What are the coordinates of the point at which
the crash occurred?

Solve the system of equations { i : gy_:121.
x+ 3y =21
x+3x—1) =21 Substitute x — 1 for y.

x+3x—3=21

4x = 24
x =6
x+ 3y =21
6 + 3y = 21  Substitute 6 for x.
3y =15
y=5

The coordinates of the crash are (6, 5).

Solve the following.

1. The lines of sight to a forest fire are as follows.

From Ranger Station A: 3x +y =9
From Ranger Station B: 2x + 3y = 13
Find the coordinates of the fire.

2. An airplane is traveling along the line x — y = —1 when it sees another
airplane traveling along the line 5x + 3y = 19. If they continue along the
same lines, at what point will their flight paths cross?

3. Two mine shafts are dug along the paths of the following equations.

x —y = 1400
2x +y = 1300

If the shafts meet at a depth of 200 feet, what are the coordinates of the
point at which they meet?

© Glencoe/McGraw-Hill 130 Glencoe Algebra 2
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3-3 Study Guide and Intervention
Solving Systems of Inequalities by Graphing

Gra ph Systems of Ineq ualities To solve a system of inequalities, graph the inequalities
in the same coordinate plane. The solution set is represented by the intersection of the graphs.

Solve the system of inequalities by graphing.

X
ys2x—1andy>§+2 Rebion 3
The solution of y = 2x — 1 is Regions 1 and 2.
The solution of y > = + 2 is Regions 1 and 3. e <l
The intersection of these regions is Region 1, which is 0 X
the solution set of the system of inequalities. Relion 2
Solve each system of inequalities by graphing.
lL.x —y=2 2.3x — 2y = -1 3. yo=1
x+2y=1 x + 4y = —12 x> 2
y y y
o
(o] (o] X
X X X
4.y2§—3 5.y<§+2 6.y2—z+1
y < 2x y<-—-2x+1 y<3x-1
y y y
(o]
[o] o X
7.x+ty=4 8x+3y<3 9. —2y>6
20—y > 2 x—2y=4 x +4y < —4
y y y
o X
0
0
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3-3) Study Guide and Intervention (continued

Solving Systems of Inequalities by Graphing

Find Vertices of a Polygonal Region Sometimes the graph of a system of
inequalities forms a bounded region. You can find the vertices of the region by a combination
of the methods used earlier in this chapter: graphing, substitution, and/or elimination.

Find the coordinates of the vertices of the figure formed by
5x +4y <20,y <2x + 3,and x — 3y < 4.

WY
Graph the boundary of each inequality. The intersections of the w
boundary lines are the vertices of a triangle. N
The vertex (4, 0) can be determined from the graph. To find the ;" =
coordinates of the second and third vertices, solve the two ; S
systems of equations ',' I N
y=2x+3 and y=2x+3 M_,,-ﬂ"‘/ A\
bx + 4y = 20 x—3y=4 .
For the first system of equations, rewrite the first For the second system of
equation in standard form as 2x — y = —3. Then equations, use substitution.
multiply that equation by 4 and add to the second Substitute 2x + 3 for y in the
equation. second equation to get
2x —y = —3  Multiply by 4. 8x — 4y = —12 x—32x+3)=4
S5x + 4y = 20 (+) bx + 4y = 20 x—6x—9=4
13x = 8 —bx = 13
X = ﬁ 5
. 13 .
Then substitute x = % in one of the original equations Then substitute x = —p the
and solve for y. first equation to solve for y.
8
L)y == 13
2(13) y=-3 y=2<—?)+3
16
oy = — 26
55
= 22 11
T y= 5
The coordinates of the second vertex are <%, 4%) The coordinates of the third
vertex are (—2%, —2%).

Thus, the coordinates of the three vertices are (4, 0), ( 8 4i>, and (—2%, —2%).

13’ "13

Find the coordinates of the vertices of the figure formed by each system of
inequalities.

lL.y=—-3x+7 2.x> -3 3.y<—éx+3
1 1 1

y<§x y<—§x+3 y>§x+1

y > =2 y>x—1 y <3x + 10
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3-3, SKkills Practice
Solving Systems of Inequalities by Graphing

Solve each system of inequalities by graphing.

lL.x <1 2.x= -3 3.x=2
y=-1 y= -3 x >4
y y y
(o) X (o] X (%) X
4. vy=x 5.y < —4x 6.x —y=-1
y=—x y=3x — 2 3x—y=4
y y y
o) X o) X o) X
7.y <3 8.y<—-2¢x+3 9.x —y=4
x + 2y <12 y=x—2 2c +y <4
y y y
[ X [ X [o] X

Find the coordinates of the vertices of the figure formed by each system of
inequalities.

10.y <0 1.y <3 —«x 12. x = -2
x <0 y=3 y>x— 2
y=-—-x—1 x> -5 x+y=2
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Solve each system of inequalities by graphing.

Ly +1<-—x 2.x> —2 3.y =2x—3
y=1 % =3x + 6 y=—gu+2
y y y
(o) X [¢] X o) X
4. x+y>-2 5. y00=1 6. 3y > 4x
3x —y=-2 y<x-—1 2¢x — 3y > —6

Find the coordinates of the vertices of the figure formed by each system of
inequalities.

7.y=1—«x 8.x—y=2 9.y =2x — 2
y=x-—1 xty=2 2x+ 3y =6
x=3 x= -2 y <4

DRAMA For Exercises 10 and 11, use the following information.

The drama club is selling tickets to its play. An adult ticket Play Tickets
costs $15 and a student ticket costs $11. The auditorium will 400
seat 300 ticket-holders. The drama club wants to collect at 350
least $3630 from ticket sales. 300
Q
10. Write and graph a system of four inequalities that E 250
describe how many of each type of ticket the club must £ 200
sell to meets its goal. T 150
% 100
50
11. List three different combinations of tickets sold that

satisfy the inequalities. 0 100 200 300 400
Adult Tickets
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3-3) Reading to Learn Mathematics
Solving Systems of Inequalities by Graphing

Pre-Activity How can you determine whether your blood pressure is in a
normal range?

Read the introduction to Lesson 3-3 at the top of page 123 in your textbook.

Satish is 37 years old. He has a blood pressure reading of 135/99. Is his
blood pressure within the normal range? Explain.

Reading the Lesson

1. Without actually drawing the graph, describe the boundary lines kO< 3
for the system of inequalities shown at the right. <5

2. Think about how the graph would look for the system given above. What will be the
shape of the shaded region? (It is not necessary to draw the graph. See if you can
imagine it without drawing anything. If this is difficult to do, make a rough sketch to
help you answer the question.)

3. Which system of inequalities matches the graph shown y
at the right?
A x—y=-2 B.x—y=-2 ,
x—y>2 x—y <2 s
C.x+y=-2 D.x—y>-2 of |,/ X
x+y>2 x—y=2 Lt
’l
’

Helping You Remember

4, To graph a system of inequalities, you must graph two or more boundary lines. When
you graph each of these lines, how can the inequality symbols help you remember
whether to use a dashed or solid line?
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Tracing Strategy
Try to trace over each of the figures below without tracing the same segment twice.
A B K
J L
Q
D c M

The figure at the left cannot be traced, but the one at the right can. The rule is that
a figure is traceable if it has no more than two points where an odd number of
segments meet. The figure at the left has three segments meeting at each of the
four corners. However, the figure at the right has only two points, L and @, where
an odd number of segments meet.

Determine if each figure can be traced without tracing the same segment
twice. If it can, then name the starting point and name the segments in
the order they should be traced.

1. £ F 2. A B Cc
w X
Y D K
E F

H G G H J

3 T U
P "4
S R
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3-4, Study Guide and Intervention
Linear Programming

Maximum and Minimum Values When a system of linear inequalities produces a
bounded polygonal region, the maximum or minimum value of a related function will occur
at a vertex of the region.

Graph the system of inequalities. Name the coordinates of the
vertices of the feasible region. Find the maximum and minimum values of the
function f(x, y) = 3x + 2y for this polygonal region.

y=4

y=—-—x+6
3

1
> E——
y=3*¥"3

y=6x+4
First find the vertices of the bounded region. Graph Vi
the inequalities.

The polygon formed is a quadrilateral with vertices at
0, 4),(2,4),(5,1), and (-1, —2). Use the table to find the

A
Y

maximum and minimum values of f(x, y) = 3x + 2y. |
(x, ¥) 3x + 2y f(x, y) II X
(0, 4) 3(0) + 2(4) 8 fo
(2, 4) 3(2) + 2(4) 14
(5, 1) 3(5) + 2(1) 17
(=1, —-2) | 3(—1) + 2(—-2) -7

The maximum value is 17 at (5, 1). The minimum value is —7 at (=1, —2).

. Exercises |

Graph each system of inequalities. Name the coordinates of the vertices of the
feasible region. Find the maximum and minimum values of the given function for
this region.

l.y =2 2.y = —2 3.xt+ty=2
l1=x=5 y=2x — 4 4y =x + 8 <
y=x+3 x—2y=-1 y=2x—5 L
flx,y) = 3x — 2y flx,y) =4x —y flx,y) = 4x + 3y -
y y y 8
n
()
i

o X
o X
O X
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3-4) Study Guide and Intervention (continued

Linear Programming

Real-World Problems When solving linear programming problems, use the
following procedure.

1. Define variables.

2. Write a system of inequalities.

3. Graph the system of inequalities.

4. Find the coordinates of the vertices of the feasible region.
5. Write an expression to be maximized or minimized.

6. Substitute the coordinates of the vertices in the expression.
7. Select the greatest or least result to answer the problem.

A painter has exactly 32 units of yellow dye and 54 units of green
dye. He plans to mix as many gallons as possible of color A and color B. Each
gallon of color A requires 4 units of yellow dye and 1 unit of green dye. Each
gallon of color B requires 1 unit of yellow dye and 6 units of green dye. Find the
maximum number of gallons he can mix.

Step 1 Define the variables. 40
x = the number of gallons of color A made 35
y = the number of gallons of color B made Z 30 \

o
Step 2 Write a system of inequalities. «=g, = \
Since the number of gallons made cannot be EE 20 \
negative,x = 0 and y = 0. 2 5 \ N
There are 32 units of yellow dye; each gallon of U}O'\ 6,8 ]
color A requires 4 units, and each gallon of 0,975 \G.0 —
color B requires 1 unit. 0 5 10 15 20 25 30 35 40 45 50 55
So 4x + y = 32. Color A (gallons)
Similarly for the green dye, x + 6y = 54.
Steps 3 and 4 Graph the system of inequalities ) | x+ f(x, y)
and find the coordinates of the vertices of the feasible region. ¥ y Y
The vertices of the feasible region are (0, 0), (0, 9), (6, 8), and (8, 0). 0.0 ] 0+0 0
Steps 5-7 Find the maximum number of gallons, (0,9)| 0+9 9
x + y, that he can make. 6.8 | 6+8| 14
The maximum number of gallons the painter can make is 14, 8,0) | 8+0 8
6 gallons of color A and 8 gallons of color B.

~ Exencises

1. FOOD A delicatessen has 8 pounds of plain sausage and 10 pounds of garlic-flavored
sausage. The deli wants to make as much bratwurst as possible. Each pound of

bratwurst requires % pound of plain sausage and % pound of garlic-flavored sausage.
Find the maximum number of pounds of bratwurst that can be made.

2. MANUFACTURING Machine A can produce 30 steering wheels per hour at a cost of $16
per hour. Machine B can produce 40 steering wheels per hour at a cost of $22 per hour.

At least 360 steering wheels must be made in each 8-hour shift. What is the least cost
involved in making 360 steering wheels in one shift?

© Glencoe/McGraw-Hill 138 Glencoe Algebra 2



NAME

DATE

this region.

3-4  Skills Practice
Linear Programming

Graph each system of inequalities. Name the coordinates of the vertices of the
feasible region. Find the maximum and minimum values of the given function for

PERIOD

l.x =2 2.x=1 3.x=0
x=5 y=6 y=0
y=1 y=x—2 y=T7-x
y=4 fl,y) =x—y flx,y) =3x +y
fle,y) =x +y

y y y
o (o)
[o)

4.x = -1 5.y = 2x 6.y=-—x—2
x+y=6 y=6—x y=3x + 2
fla,y) = x + 2y y=6 y=x+4

flx,y) = 4x + 3y flx,y) = —3x + 5y
y y y
(o) X
o X o X

Y
m
c
o
n
n
(]
-

7. MANUFACTURING A backpack manufacturer produces an internal frame pack and an
external frame pack. Let x represent the number of internal frame packs produced in
one hour and let y represent the number of external frame packs produced in one hour.
Then the inequalities x + 3y = 18, 2x + y = 16,x = 0, and y = 0 describe the constraints
for manufacturing both packs. Use the profit function flx) = 50x + 80y and the
constraints given to determine the maximum profit for manufacturing both backpacks
for the given constraints.
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3-4, Practice
| Linear Programming

Graph each system of inequalities. Name the coordinates of the vertices of the
feasible region. Find the maximum and minimum values of the given function for
this region.

1.2x —4 =y 2.3x —y =17 3.x=0
—2x— 4=y 2x —y =3 y=0
y=2 y=x—3 y=6
flx,y) = —2x +y fle,y) =x — 4y y=-3x+ 15
y y fle,y) = 3x +y
y
o X
o X
o X
4.x=0 5.y=3x+6 6.2x +3y=6
y=0 4y + 3x =3 2 —y =2
e +y =T x=—2 x=0
fla,y) = —x — 4y flx,y) = —x + 3y y=0

fle,y) =x +4y + 3

PRODUCTION For Exercises 7-9, use the following information.

A glass blower can form 8 simple vases or 2 elaborate vases in an hour. In a work shift of no
more than 8 hours, the worker must form at least 40 vases.

7. Let s represent the hours forming simple vases and e the hours forming elaborate vases.
Write a system of inequalities involving the time spent on each type of vase.

8. If the glass blower makes a profit of $30 per hour worked on the simple vases and $35
per hour worked on the elaborate vases, write a function for the total profit on the vases.

9. Find the number of hours the worker should spend on each type of vase to maximize
profit. What is that profit?
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3-4, Reading to Learn Mathematics
Linear Programming

Pre-Activity How is linear programming used in scheduling work?
Read the introduction to Lesson 3-4 at the top of page 129 in your textbook.

Name two or more facts that indicate that you will need to use inequalities
to model this situation.

Reading the Lesson
1. Complete each sentence.

a. When you find the feasible region for a linear programming problem, you are solving

a system of linear called . The points
in the feasible region are of the system.
b. The corner points of a polygonal region are the of the

feasible region.

2. A polygonal region always takes up only a limited part of the coordinate plane. One way
to think of this is to imagine a circle or rectangle that the region would fit inside. In the
case of a polygonal region, you can always find a circle or rectangle that is large enough
to contain all the points of the polygonal region. What word is used to describe a region
that can be enclosed in this way? What word is used to describe a region that is too large
to be enclosed in this way?

3. How do you find the corner points of the polygonal region in a linear programming
problem?

4. What are some everyday meanings of the word feasible that remind you of the
mathematical meaning of the term feasible region?

Helping You Remember

5. Look up the word constraint in a dictionary. If more than one definition is given, choose
the one that seems closest to the idea of a constraint in a linear programming problem.
How can this definition help you to remember the meaning of constraint as it is used in
this lesson?
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3-4, Enrichment

Computer Circuits and Logic

Computers operate according to the laws of logic. The circuits of a computer
can be described using logic.

1. —./VA—O—} With switch A open, no current flows. The value 0 is assigned
A to an open switch.
2. —P o0 p | With switch A closed, current flows. The value 1 is assigned
A to a closed switch.
3. —/A—o—/vho—} With switches A and B open, no current flows. This circuit
A B can be described by the conjunction, A - B.
J —O
A
4. o— —p | Inthis circuit, current flows if either A or B is closed. This circuit
can be described by the disjunction, A + B.
e ~O
B
AlB] A+B Truth tables are used to describe the flow of current in a circuit.
olo 0 The table at the left describes the circuit in diagram 4. According
ol 1 1 to the table, the only time current does not flow through the
110 1 circuit is when both switches A and B are open.
11 1

Draw a circuit diagram for each of the following.

1.(A-B)+C 2.(A+B)-C

3.(A+B)-(C+ D) 4.(A-B)+ (C-D)

5. Construct a truth table for the
following circuit.

/A—C
B
o—{ho— )
=/vhc
C
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3-5, Study Guide and Intervention

Solving Systems of Equations in Three Variables

Systems in Three Variables Use the methods used for solving systems of linear
equations in two variables to solve systems of equations in three variables. A system of
three equations in three variables can have a unique solution, infinitely many solutions, or
no solution. A solution is an ordered triple.

Solve this system of equations. 3x+y—2z=-6
2x —y+ 2z =8
4 +y — 3z = 21

Step 1 Use elimination to make a system of two equations in two variables.

3x +y — 2z = —6 First equation 20—y + 2z = 8  Second equation
(+) 2x — y + 2z = 8 Second equation (+) 4x + y — 3z = —21  Third equation
5x + zZ = 2 Addto eliminate y. 6x — 2z = —13 Addto eliminate y.

Step 2 Solve the system of two equations.

bx +z = 2
(+)6x — 2z = —13
11x = —11 Add to eliminate z
X = —1 Divide both sides by 11.

Substitute —1 for x in one of the equations with two variables and solve for z.

bx +z =2 Equation with two variables
5(—1) + z = 2 Replace x with —1.
=5 + 2z =2 Muliply.
z =7 Add 5 to both sides.

The result sofarisx = —1landz = 7.

Step 3 Substitute —1 for x and 7 for z in one of the original equations with three variables.

3x + Yy —z= ) Original equation with three variables
3(—1) + y — 7 = —6 Replace x with —1 and z with 7.
-3 +y —T7=—6 Muliply.
y=4 Simplify.

The solution is (—1, 4, 7).

. Exercises |

Solve each system of equations.

1.2¢ + 3y —2=0 2.2x —y +4z =11 3.x—2y+2z=28
x— 2y —4z=14 x+ 2y —6z=-11 2c+y—2=0
3x +y — 8z =17 3x — 2y —10z = 11 3x — 6y + 3z =24

4.3x —y—z=5 5.2x — 4y —z =10 6.x — 6y + 4z = 2
3x +2y —z =11 4 — 8y — 22 = 16 2¢x + 4y — 82 = 16
6x — 3y + 2z =—-12 3x +y +z=12 x—2y=25
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3-5) Study Guide and Intervention (continued

Solving Systems of Equations in Three Variables
Real-World Problems

¥ The Laredo Sports Shop sold 10 balls, 3 bats, and 2 bases for $99 on
Monday. On Tuesday they sold 4 balls, 8 bats, and 2 bases for $78. On Wednesday
they sold 2 balls, 3 bats, and 1 base for $33.60. What are the prices of 1 ball, 1 bat,
and 1 base?

First define the variables.

x = price of 1 ball
y = price of 1 bat
z = price of 1 base

Translate the information in the problem into three equations.

10x + 3y + 2z = 99
4x + 8y + 2z = 78
2x + 3y +z = 33.60

Subtract the second equation from the first Substitute 5.40 for y in the equation
equation to eliminate z. 6x — by = 21.
10z + 3y + 22 = 99 6x —5(5.40) = 21
(=) 4x + 8y + 22 =178 6x = 48
6x — 5y =21 x =8
Multiply the third equation by 2 and Substitute 8 for x and 5.40 for y in one of
subtract from the second equation. the original equations to solve for z.
4x + 8y + 22 = 78 10x + 3y + 2z = 99
(=) 4x + 6y + 2z = 67.20 10(8) + 3(5.40) + 2z = 99
) = 10.80 80 + 16.20 + 2z = 99
Y 540 2 = 2.80
z = 1.40

So a ball costs $8, a bat $5.40, and a base $1.40.

L Exercises |

1. FITNESS TRAINING Carly is training for a triathlon. In her training routine each week,
she runs 7 times as far as she swims, and she bikes 3 times as far as she runs. One week
she trained a total of 232 miles. How far did she run that week?

2. ENTERTAINMENT At the arcade, Ryan, Sara, and Tim played video racing games, pinball,
and air hockey. Ryan spent $6 for 6 racing games, 2 pinball games, and 1 game of air
hockey. Sara spent $12 for 3 racing games, 4 pinball games, and 5 games of air hockey. Tim
spent $12.25 for 2 racing games, 7 pinball games, and 4 games of air hockey. How much did
each of the games cost?

3. FOOD A natural food store makes its own brand of trail mix out of dried apples, raisins,
and peanuts. One pound of the mixture costs $3.18. It contains twice as much peanuts
by weight as apples. One pound of dried apples costs $4.48, a pound of raisins $2.40, and
a pound of peanuts $3.44. How many ounces of each ingredient are contained in 1 pound
of the trail mix?
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3-5  Skills Practice
Solving Systems of Equations in Three Variables

Solve each system of equations.

1. 2a +c¢c = —10 2.x +y+z=3
b—c=15 13x + 2z = 2
a—2b+c=-5 —x — bz =-5

3.2x + By + 22 =6 4. x+4y —z=1
bx — Ty = =29 3x —y+8=0
z=1 x+4y —z=10

5. —2z = -6 6.3x — 2y + 2z = -2
2+ 3y —z = —2 x+ 6y —2z=-2
x+2y+32=9 x+2y =0

7. —x — bz = =5 8 -3r+2t=1
y—3x=0 r +s — 2t = —6
13x + 2z =2 r+s+4=3

9.x—y+3z=3 10.5m + 3n +p =4
—2x+ 2y — 62 =6 3m +2n =20
y — b5z = -3 2m —n +3p =8

11. 2x + 2y + 22 = —2 12.x + 2y —z =4
26 + 3y + 22 =14 3x —y+22=3
x+y+z=-1 —x+3y+z=6

13.3x — 2y +z=1 14.3x — 5y + 2z = —12
—x+y—z=2 x+4y —22=28
bx + 2y + 10z = 39 —3x + by — 2z = 12

15.2x +y + 3z = —2 16.2x — 4y + 3z =0
x—y—z=-3 x — 2y — bz =13
3x — 2y + 3z =-12 Bx +3y — 22 =19

17. —2x +y + 2z = 2 18.x — 2y + 2z = —1
3x +3y +z=0 x+2y —2=6
x+y+z=2 —3x +6y —62=3

19. The sum of three numbers is 18. The sum of the first and second numbers is 15,
and the first number is 3 times the third number. Find the numbers.

"
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3-5  Practice
| Solving Systems of Equations in Three Variables

Solve each system of equations.

DATE

PERIOD

1.2x —y + 22 =15 2.x — 4y + 3z = —27 3.a+b=3
—x+y+z=3 26 + 2y — 3z = 22 -b+c=3
3x —y + 2z =18 4z = —16 a+ 2c=10
4.3m — 2n + 4p = 15 5.2g +3h — 8 =10 6.2x +y—z= -8
m-n+p=3 g—4h =1 4dx —y + 2z = -3
m+4n —5p =0 -2 —3h +8 =5 -3x+y+2z2=5
7.2x — 5y +z=25 8.2x + 3y + 4z = 2 9.p + 4r= -7
3x +2y —z=17 bx — 2y +3z2=0 p—3qg=—-8
4x — 3y + 22 = 17 x— 5y —2z=—-4 qgt+tr=1
10. 4x + 4y — 2z = 8 11.d + 3e +f=0 12. 4x +y + 5z = -9
3x — b5y +32=0 —d+2 +f=-1 x — 4y — 2z = -2
2+ 2y —z=4 4d +e—f=1 20 + 3y — 2z = 21
13.5x + 9y + z = 20 14.2x +y — 3z = —3 15.3x + 3y + z = 10
2 —y —z=—-21 3x +2y +4z =5 b + 2y + 22 =17
bx + 2y + 2z = —-21 —6x — 3y +92=9 3x — 2y +3z= -9
16.2u +v+w =2 17.x + 5y — 3z = —18 18.x — 2y +z = —1
—3u +2v + 3w =17 3x — 2y + bz = 22 —x+2y —2=6
—u—v+2w="7 —2x — 3y + 8z = 28 -4y + 2z =1
19.2x — 2y — 4z = —2 20.x —y + 9z = =27 21.2x — by — 3z =17

3x — 3y — 6z = -3
—2x+ 3y +z=17

20 — 4y —z = -1
3x + 6y — 3z = 27

—4x + 10y + 22 = 6
6x — 15y —z = —19

22. The sum of three numbers is 6. The third number is the sum of the first and second
numbers. The first number is one more than the third number. Find the numbers.

23. The sum of three numbers is —4. The second number decreased by the third is equal to
the first. The sum of the first and second numbers is —5. Find the numbers.

24, SPORTS Alexandria High School scored 37 points in a football game. Six points are
awarded for each touchdown. After each touchdown, the team can earn one point for the
extra kick or two points for a 2-point conversion. The team scored one fewer 2-point
conversions than extra kicks. The team scored 10 times during the game. How many
touchdowns were made during the game?

146
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3-5, Reading to Learn Mathematics
| Solving Systems of Equations in Three Variables

Pre-Activity How can you determine the number and type of medals U.S.
Olympians won?

Read the introduction to Lesson 3-5 at the top of page 138 in your textbook.

At the 1996 Summer Olympics in Atlanta, Georgia, the United States won
101 medals. The U.S. team won 12 more gold medals than silver and 7
fewer bronze medals than silver. Using the same variables as those in the
introduction, write a system of equations that describes the medals won for
the 1996 Summer Olympics.

Reading the Lesson

1. The planes for the equations in a system of three linear equations in three variables
determine the number of solutions. Match each graph description below with the
description of the number of solutions of the system. (Some of the items on the right may
be used more than once, and not all possible types of graphs are listed.)

a. three parallel planes I. one solution
b. three planes that intersect in a line II. no solutions
c. three planes that intersect in one point III. infinite solutions

d. one plane that represents all three equations

2. Suppose that three classmates, Monique, Josh, and Lilly, are studying for a quiz on this
lesson. They work together on solving a system of equations in three variables, x, y, and
z, following the algebraic method shown in your textbook. They first find that z = 3, then
that y = —2, and finally that x = —1. The students agree on these values, but disagree
on how to write the solution. Here are their answers:

Monique: (3, —2, —1) Josh: (=2, —1, 3) Lilly: (-1, -2, 3)

a. How do you think each student decided on the order of the numbers in the ordered
triple?

b. Which student is correct?

Helping You Remember

3. How can you remember that obtaining the equation 0 = 0 indicates a system with
infinitely many solutions, while obtaining an equation such as 0 = 8 indicates a system
with no solutions?

"
m
c
o
n
n
(]
-
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3-5. Enrichment

Billiards

The figure at the right shows a billiard table. K R
The object is to use a cue stick to strike the ball A
at point C so that the ball will hit the sides
(or cushions) of the table at least once before c
hitting the ball located at point A. In playing
the game, you need to locate point P.

Step 1 Find point B so that BC L ST and
BH = CH. B is called the reflected
image of C in ST.

Step 2 Draw AB.

Step 3 AB intersects ST at the desired point P.

T

T

[ O]
.

@

For each billiards problem, the cue ball at point C must strike the indicated
cushion(s) and then strike the ball at point A. Draw and label the correct path
for the cue ball using the process described above.

1. cushion KR 2. cushion RS
K R
A.
K R
A
[ )
C
[ )
(o)
T S T S
3. cushion TS, then cushion RS 4. cushion KT, then cushion RS
K R K R
Ae C
[ )
C.
T S
Ae
T S
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Chapter 3 Test, Form 1 SCORE

3

Write the letter for the correct answer in the blank at the right of each question. =
1. A system of equations may not have [}
A. exactly one solution. B. no solution. g
C. infinitely many solutions. D. exactly two solutions. 1. o
vy
Choose the correct description of each system of equations. 2
A. consistent and independent B. consistent and dependent
C. inconsistent D. inconsistent and dependent 9
2. 4x + 2y = —6 3.3x+y=3
2¢c+y =38 x—2y=4 3.

To solve each system of equations, which expression could be
substituted for x into the first equation?

4, bx — 2y =8 A y+1 B.y—-1
x—y=1 2.5 _ 4.

C. 5x+8 D.x—-1

5. 4x + 3y =12 A. 3y -5 B.y+ 35
x+3y=—5 C. —3y—5 D. _%x_% 5.—

The first equation of each system is multiplied by 4. By what number
would you multiply the second equation in order to eliminate the
x variable by adding?

6. 3x — 2y =14 A. 3 B. -3
4x + 5y = 28 C. 4 D. -4 6.
7. —6x — 3y =12 A. 3 B. -3
8x + 2y =16 C. 6 D. -6 7.
Solve each system of equations.
8.3x—2y=5 A (1,1 B. (2,0)
x=y+2 C. (0, -2) D. (1, -1) 8
9. 2x+3y=5 A. (3,4) B. (-2, 3)
3x—2y=1 C. (1,1 D. (4, —1) 9 ——
10. Which system of equations is graphed? Y 4
A.y—%x=0 B.y—-3x=0 /(1,3)
x—y=-2 x—y=-2
1 O X
C.y—3x=0 D.y—§x=0 V! 10.
x—y=2 x—y=2
11. Which system of inequalities is graphed? y
Al y>-1 B.y>-1
y=—2x+1 y=-2x+1
C.y=-1 D.y> -1 <12 > 1.
y=—-2x+1 y<-—-2x+1
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Chapter 3 Test, Form 1 (consinued)

12. Find the coordinates of the vertices A. (0, 0), (3, 0), (3, 2), (0, 2)
of the figure formed by the system B. (0, 0), (2, 0), (2, 3), (0, 3)
y=0,x=0,y =<2 and x < 3. C. (0,0), (=3, 0), (-3, —2), (0, —2)
D. (0, 0), (-2, 0), (=2, —3), (0, —3) 12.
Use the system of inequalitiesy = 0,x = 0, and y = —2x + 4.
13. Find the coordinates of the vertices A, (0, 0), (—2, 0), (0, —4)

of the feasible region. B. (0, 0), (2, 0), (0, 4)
C. (0, 0), (4, 0), (0, 2)
D. (0, 0), (—4, 0), (0, 2) 13.
14. Find the maximum value of f(x, y) = 3x + y for the feasible region.
A. 2 B. 4 C. 6 D. 12 14.
15. Find the minimum value of f(x, y) = 3x + y for the feasible region.
A. 6 B. 4 C. 2 D. 0 15.

For Questions 16-18, use the following information. A college arena
sells tickets to students and to the public. Student tickets are $8 each
and general public tickets are $32 each. The college reserves at least
5000 tickets for students. The arena seats 18,000.

16. Let s represent the number of student tickets and p represent the number
of general public tickets. Which system of inequalities represents the
number of tickets sold?
A.s=0,p=0,s + p=18,000 B. s=5000,p =0,s + p = 18,000
C.s=8,p=32,s + p=40 D.s=0,p=0,s + p=18,000 16.

17. How many general public tickets should the college sell to maximize
revenue (amount collected)?

A. 18,000 B. 0 C. 13,000 D. 5000 17.
18. What is the maximum revenue?
A. $456,000 B. $416,000 C. $40,000 D. $576,000 18.
19. What is the value of y in the solution 2x +y + 2z =13
of the system of equations? 2c—y —3z= -3
x+ 2y + 4z =20
A1 B. 2 C.3 D. 4 19.

20. The 300 students at Holmes School work a total of 5000 hours each month.
Each student in group A works 10 hours, each in group B works 15 hours,
and each in group C works 20 hours each month. There are twice as many
students in group B as in group A. Which equation would not be included
in the system used to solve this problem?

A.A=2B B. 10A + 15B + 20C = 5000
C.A+B+C=300 D. B=2A 20,
Bonus Find the area of the region defined by the system of
inequalitiesx = 0,y = 0, and x + 2y = 4. B:
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3

Chapter 3 Test, Form 2A

PERIOD

SCORE

Write the letter for the correct answer in the blank at the right of each question.

1. The system of equations y = —3x + 5 and y = —3x — 7 has
A. exactly one solution. B. no solution.
C. infinitely many solutions. D. exactly two solutions.

Choose the correct description of each system of equations.

A. consistent and independent B. consistent and dependent

C. inconsistent D. inconsistent and dependent
2. 2x—y=4 3. 9x — 3y =15

4dx — 2y =6 6x =2y + 10

To solve each system of equations, which expression could be
substituted for y into the first equation?

4. 5x+3y =9 A. 12x — 3y B.—%x+3
xt+y=8 C. 4x — 8 D. 8 — 4«x
_ 1 5
5. 3x + 6y =12 A.§y+§ B. 2x -5
2x—y=5 C.2x+5 D. 12y - 5
6. The first equation of the system is multiplied by 3. 4 — 3y =6
By what number would you multiply the second 6x + 1y = 10
equation to eliminate the x variable by adding?
A -2 B. 2 C.9 D. -9
7. The first equation of the system is multiplied by 2. 4 — 3y =6
By what number would you multiply the second 6x + 1y = 10
equation to eliminate the y variable by adding?
A -2 B. -1 C.6 D. -3
For Questions 8 and 9, solve each system of equations.
8. 5x +2y=1 A. (1, -2) B. (1, 2)
y=1-3 c.(0.3) D. (-2, 1)
9. 3x + 4y =12 A. (3,0) B. (4,0)
2 — 3y = —9 C. (—-1,4) D. (0, 3)
10. Which system of equations is graphed? y
A.x+y=5 B.x+y=5
x—2y=2 x+2y=2 G X
C.x—y=5 D.x—y=5
x—2y=2 x+2y=2
11. Which system of inequalities is graphed? y
\
A 2x—y=2 B. 2x +y>2 X\
x+3y=6 x—3y=6 ol NI _——TX
N
C.2x+y=2 D. 2x—y<2 p s
x—3y<6 x+3y>6 N
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Chapter 3 Test, Form 2A (continueq)

12. Find the coordinates of the vertices A. (0, 0), (3, 0), (0, 6)
of the figure formed by the system B. (-1,8), (-1, —2), (4, —2)
X = —1,y = -2, and 2x + y= 6. C. (O, 0), (0’ 3), (6, 0)
D. (-1, -2),(-1,6), 4, 0) 12.

For Questions 13-15, use the system of inequalitiesx = 2,y — x = -3,
andx +y =5.

13. Find the coordinates of the vertices of the feasible region.

A (2,-1),(2,3),4,1) B. (0, -3),(0,5),(4,1)

C. (2,0),(3,0),(4,1),(2,3) D. (0, 0), (0, 5), (3, 0), (4, 1) 13.
14. Find the maximum value of f(x, y) = x — 4y for the feasible region.

A. 14 B. 0 C. 8 D. 6 14.
15. Find the minimum value of f(x, y) = x — 4y for the feasible region.

A -2 B. 0 C. -10 D. 4 15.
16. What is the value of z in the solution of the system of 2x + 3y +z=9

equations? x—2y—z=4

x— 8y +2z=-3
A. 4 B. 1 C. -2 D. 3 16.

4
An office building containing 96,000 square feet of space is to be made
into apartments. There will be at most 15 one-bedroom units, each with
800 square feet of space. The remaining units, each with 1200 square feet
of space, will have two bedrooms. Rent for each one-bedroom unit will
be $650 and for each two-bedroom unit will be $900.

17. Let x represent the number of one-bedroom apartments and y represent
the number of two-bedroom apartments. Which system of inequalities
represents the number of apartments to be built?

A. x =15,y =0, 650x + 900y = 96,000
B. x = 15,y = 0, 800x + 1200y = 96,000
C. x = 650, y = 900, 800x + 1200y = 96,000

D. x =15,y =0, 800x + 1200y = 96,000 17.
18. How many two-bedroom apartments should be built to maximize revenue?
A. 70 B. 15 C. 80 D. 120 18.

At a university, 1200 students are enrolled in engineering. There are

twice as many in electrical engineering as in mechanical engineering,

and three times as many in chemical engineering as in mechanical

engineering.

19. Which system of equations represents the number of students in each program?
A.c+m+e=1200,2m =e,3m=¢c B.c+m+e=1200,3m =e¢,2m =c
C.c+tm+e=1200,2¢ =m,3c=m D.c+m+e=1200,2m =¢,3m=2¢ 19.

20. How many students are enrolled in the mechanical engineering program?

A. 200 B. 400 C. 600 D. 1200 20,
Bonus Find the value of x in the solution of the system of
equations x +y = % and x — 2y = % B:
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3

SCORE

Write the letter for the correct answer in the blank at the right of each question.
1. The system of equations y = 2x — 3 and y = 4x — 3 has
B. no solution.
D. exactly two solutions. 1.

A. exactly one solution.
C. infinitely many solutions.
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Choose the correct description of each system of equations.

A. consistent and independent B. consistent and dependent

C. inconsistent D. inconsistent and dependent 2,
2. x +2y =17 3. 2x + 3y =10 3
3x—2y=5 4x + 6y = 20 )

To solve each system of equations, which expression could be
substituted for x into the first equation?

4. 3x — by =14 A. 10 — 4y B. 4y + 10
x+ 4y =10 C.%x+g D. —%er% 4.
5. 2x + Ty = 10 A.%x+15 B.%x—lS
x—2 =15 C.2 + 15 D. 2y — 15 5.
6. The first equation of the system is multiplied by 2. 6x — 5y = 21
By what number would you multiply the second 4x + Ty = 15
equation to eliminate the x variable by adding?
A 3 B. -3 C.2 D. -2 6.
7. The first equation of the system is multiplied by 4. 2x + 5y = 16
By what number would you multiply the second 8x — 4y =10
equation to eliminate the y variable by adding?
A5 B. -5 C.2 D. -2 7.
For Questions 8 and 9, solve each system of equations.
8. 4x—-3y=14 A (1,1 B. (5,2)
y=-3x+4 C. (-4, —-10) D. (2, -2) 8.
9. 4x —3y=28 A (—2,1) B. (2,0)
2 + by = =9 C. (0, —83) D. (% —z) 9.
10. Which system of equations is graphed? } ‘M
A 2x+y=1 B.2x +y=-1 2.3
—3x—y=3 3x—y=3 \
C.2x+y=1 D. 2x+y=-1 \o X 10.
3x—y=3 —3x—y=3 ¥
11. Which system of inequalities is graphed? — y
\ X
A 2x+y=5 B.2x—y=5 ' 4
3x +2y=9 3x +2y <9 ‘\
C.2x+y>-5 D. —2x+y>5 A 11.
3x —2y=9 3x —2y=9 £
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3 / Chapter 3 Test, Form 2B (continueq)

12. Find the coordinates of the vertices of the figure formed by the system
x=0,y= -2 and 2x + y = 4.
A. (3, -2),(0,4), (0, —2) B. (-2,0),(4,0), (-2, 3)
C. (0, 0), (0, 4), (2, 0) D. (-2, 3), (0, 4), (0, —2) 12.
For Questions 13-15, use the system of inequalitiesy =1,y — x <6,
and x + 2y =< 6.
13. Find the coordinates of the vertices of the feasible region.

A. (-6,0),(—-2,4),(6,0) B. (-5,1),(-2,4),(4, 1)

C. (0,1),(0,3),(4,1) D. (-5,1),(-2,4),(0, 3),(0,1) 13.
14. Find the maximum value of f(x, y) = 2x + y for the feasible region.

A. 0 B. 11 C.9 D. 8 14.
15. Find the minimum value of f(x, y) = 2x + y for the feasible region.

A. -10 B. 0 C. -9 D. -4 15.
16. What is the value of z in the solution of the system of 2x + 3y —z =12

equations? dx —y +z= -3

—2xc+2y+2z=3
A -1 B. 12 C.3 D. -2 16.

Tickets to a golf tournament are sold in advance for $40 each, and on
the day of the event for $50 each. For the tournament to occur, at least
2000 of the 8000 tickets must be sold in advance.

17. Let a represent the number of advance tickets sold and d represent the
number sold on the day of the tournament. Which system of inequalities
represents the number of tickets sold?

A. a=2000,d =0,a +d = 8000 B.a=0,d=0,a +d = 8000

C.a=0,d=0,a +d=2000 D. a =40,d =50,a + d = 2000 17.
18. How many advance tickets should be sold to maximize revenue?

A. 6000 B. 2000 C. 4000 D. 8000 18.

A local gas station sells low-grade (£), mid-grade (m), and premium (p)
gasoline. Mid-grade gasoline costs $0.10 per gallon more than low-grade,
and premium gasoline costs $0.10 per gallon more than mid-grade
gasoline. Five gallons of low-grade gas cost $9.

19. Which system of equations represents the cost of each type of gasoline?
A.5(+m=9,m=4¢+0.10,p =m + 0.10
B.5(=9,m=¢-0.10,p =m — 0.10
C.5¢=9,m=¢+0.10,p =m + 0.10

D. 0.10¢ + 0.10m + 5p =9,0.10¢ + m =0,0.10m + p =0 19.
20. What is the cost of one gallon of premium gasoline?
A. $1.80 B. $1.90 C. $2.00 D. $2.10 20,
Bonus Solve the system of equations. B:
at+b=6 c+d=14 f+a=2
b+c=5 d+f=3
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3

Chapter 3 Test, Form 2C

Solve each system of equations by graphing. 1.
1. 3x — 2y =6
2c+y =4
2.3x—y=1 2.
3y =9x + 6

Describe each system of equations as consistent and
independent, consistent and dependent, or inconsistent.

3.y=2x+5 4. 2x —y =25 3.
y=-3x+4 6x — 3y =15
Solve each system of equations by using substitution. 4.
5.3x+ 7y =19 6. x +3y =12
x+y=25 bx +y=4 5.
Solve each system of equations by using elimination. 6.
7.3x— 2y =4 8. 4x —y =10 7.
2¢+ 3y =17 bx +2y =6 8.
Solve each system of inequalities by graphing. 9.
9. 4x — 3y <9
2c+y =5
1ays%x—2 10.
2y =x —4

Find the coordinates of the vertices of the figure formed
by each system of inequalities.

11.
11. y= -3 12, x =3
y=2x+1 y=2x+4
x<=2 x+y=-2 12.
3y = —2x + 12
© Glencoe/McGraw-Hill 155
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Chapter 3 Test, Form 2C (continueq)

3

Use the system of inequalities x = —2,x +y = 7, and
y=2x+1.

13. Find the coordinates of the vertices of the feasible region. 13.

14. Find the maximum and minimum values of the function

f(x,y) = 3x — y for the feasible region. 14.

The area of a parking lot is 600 square meters. A car requires
6 square meters and a bus requires 30 square meters of
space. The lot can handle a maximum of 60 vehicles.

15. Let ¢ represent the number of cars and b represent the 15.
number of buses. Write a system of inequalities to
represent the number of vehicles that can be parked.

16. If a car costs $3 and a bus costs $8 to park in the 16.
lot, determine the number of each vehicle to maximize
the amount collected.

Solve each system of equations.

17. x + 2y — 3z =5 17.
x—y+2z=-3
x+ty—z=2

18. 3x +y +2z2=1 18.
2 —y+z=-3
x+y—4z=-3

A printing company sells small packages of personalized
stationery for $7 each, medium packages for $12 each,
and large packages for $15 each. Yesterday, the company
sold 9 packages of stationery, collecting a total of $86.
Three times as many medium packages were sold as large
packages.

19. Let s represent the number of small packages, m the 19.
number of medium packages, and ¢ the number of large
packages. Write a system of three equations that
represents the number of packages sold.

20. Find the number of each size package sold. 20.

Bonus Find the perimeter of the region defined by the system
of inequalities:
—2=x=5
—4=y=-1 B:
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Chapter 3 Test, Form 2D SCORE

3

Solve each system of equations by graphing. 1.[ Ty =
l.x+y=5 GE)
2y =x — 2 = v
o a
("]
<
2.y = %x -1 2 y
2c+y=—1
%) X
Describe each system of equations as consistent and
independent, consistent and dependent, or inconsistent.
3.3x —4y =5 4. 2x — Ty =14
6x — 8y = —5 x+3y=6
Solve each system of equations by using substitution.
5.
5. 4x —y =10 6. x—y=6
y=3x—6 3x + 2y = —22 6.
Solve each system of equations by using elimination.
7.5x+2y=1 8. 5x — 3y =16
2+ 3y =17 2x + 7y = —10
Solve each system of inequalities by graphing. 9. y
9. 2x —3y= -3
> j— j—
3y 2x — 6 = -
10. x + 3y =6 10. y
3. _
— -
Find the coordinates of the vertices of the figure formed
by the solution of each system of inequalities. 11
11. x = -3 12. y =3
y=-2 4y = 3x + 12 19
20+ y=-—-2 x+ty=-4 :
y=2x—1
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3 | Chapter 3 Test, Form 2D (continued)

For Questions 13 and 14, use the system of inequalities
y=T7,x+y=2,y=2x+5.

13. Find the coordinates of the vertices of the feasible region. 13.

14. Find the maximum and minimum values of the function 14.
f(x,y) = 3x + y for the feasible region.

Kristin earns $7 per hour at a video store and $10 per hour
at a landscaping company. She must work at least

4 hours per week at the video store, but the total number
of hours she works at both jobs cannot be greater than 15.

15. Let v represent the number of hours working at the video 15.
store and ¢ represent the number of hours working at the
landscaping company. Write a system of inequalities to
represent the number of hours worked in one week.

16. Determine Kristin’s maximum weekly earnings (before 16.
deductions).

Solve each system of equations.

17. 2x +y +z =4 18. 3x —y —z=12 17.
3x —y +4z=11 2¢c+ 3y +z=5
x—y+5z=20 x+2y—2=9 18.

The price of a sweatshirt at a local shop is twice the
price of a pair of shorts. The price of a T-shirt at the
shop is $4 less than the price of a pair of shorts. Brad
purchased 3 sweatshirts, 2 pairs of shorts, and 5 T-shirts
for a total cost of $136.

19. Let w represent the price of one sweatshirt, ¢ represent the  19.
price of one T-shirt, and & represent the price of one pair of
shorts. Write a system of three equations that represents
the prices of the clothing.

20. Find the cost of one sweatshirt. 20.
Bonus Solve the system of equations. B:
2 1
3% + 9y = 4
11
6% + 3V 3
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3 / Chapter 3 Test, Form 3 SCORE
Solve each system of equations by graphing. 1. y =
Q
Lotx— 2y =1 ol TTx £
wn
1 1 _ 1 4]
¥ T T a
)
<
2. y
2. x +0.5y=0.5
25=15bx—y
(o] X
Describe each system of equations as consistent and
independent, consistent and dependent, or inconsistent. 3
2 _ 10 3,1, _1
3.2x+§y—3 4. VR VA
9x + 3y =15 6x = 2(y + 5) 4.
Solve each system of equations by using substitution.
1, .1 _ 4 3
5.§x+§y—1 6.ga+b+4 0 5.
2,y = _5_5 6.
3y —x= 6 2a = 1 2b
Solve each system of equations by using elimination.
7. %x +4y=-—1 8. 0.2¢ + 1.5d = —2.7 o
1 9 1.2¢ — 0.5d = 2.8 :
Ex - 3_’)’ = _Z 9. y
Solve each system of inequalities by graphing. X
o
9. x+y=5
x+y>-3
xX—2y=6
x—2=-2 10. y
10. x| =1 R RERE
| y+1 | =3
x+3y> -6
Find the coordinates of the vertices of the figure formed
by the solution of each system of inequalities. 11
11. x =2 12. 2=x=5
—4=<y=<3 1,1
26 +y= — 2
y=—4
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Chapter 3 Test, Form 3 (consinued)

For Questions 13 and 14, use the system of inequalities

x2—3,x—y2—4,x5y+1,and%x+%ys2.

13. Find the coordinates of the vertices of the feasible region. 13.

14. Find the maximum and minimum values of the function

flx,y) = 3x — ly for the feasible region. 14.
2

A dog food manufacturer wants to advertise its products.
A magazine charges $60 per ad and requires the purchase
of at least three ads. A radio station charges $150 per
commercial minute and requires the purchase of at least
four minutes. Each magazine ad reaches 12,000 people
while each commercial minute reaches 16,000 people. At
most $900 can be spent on advertising.

15. Let a represent the number of magazine ads and m represent 15.
the number of commercial minutes. Write a system of
inequalities that represents the advertising plan for the company.

16. How many ads and commercial minutes should be purchased 16.
to reach the most people? How many people would this be?

Solve each system of equations.

1
17. 4x — 6y +z =1 18. 10a + b — = -6
x — 6y +z a 3¢ 17,
1,2 _9 _ 1,32
3x+§y 32 =5 2a 3b+7c 5
~ _ 1 5.1, _19
bx — 3y + 2z = 5 2onr40 1 18.

An electronic repair shop offers three types of service:
on-site, at-store, and by-mail. On-site service costs 3 times
as much as at-store service. By-mail service costs $10 less
than at-store service. Last week, the shop completed

15 services on-site, 40 services at-store, and 5 services by
mail for total sales of $2650.

19. Let s represent the cost of one on-site repair, a represent 19.
the cost of one at-store repair, and m represent the cost of
one by-mail repair service. Write a system of three equations
that represents the cost of each repair service.

20. Determine the cost of one on-site repair service. 20.
Bonus Solve the system of equations. B:
3,.4_5
x + y 2
6 _1_1
x oy 2
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3  Chapter 3 Open-Ended Assessment

Demonstrate your knowledge by giving a clear, concise solution
to each problem. Be sure to include all relevant drawings and
justify your answers. You may show your solution in more than
one way or investigate beyond the requirements of the problem.

1. The square of Janet’s age is 400 more than the square of the sum
of Kim’s and Sue’s ages. Kim’s and Sue’s ages total 10 less than
Janet’s age. Find the square of the sum of the ages of Janet, Kim,
and Sue. Explain your reasoning.

2. A feasible region has vertices at (0, 8), (6, 0), and (0, 0).
a. Write a system of inequalities whose graph forms this feasible
region.
b. Explain how to find the maximum and minimum values of
f(x,y) = x — y for the region.

3. Explain what the algebraic solution of a system of two linear
equations is and what that means in terms of the graphs of the
equations of the system.

4, When describing a system of two linear equations, a student
indicated that the system was inconsistent and dependent.
Discuss the meaning of the student’s description. Then assess the
student’s understanding of these terms.

5. A business owner asks the company finance manager to develop
a formula, or function, for the cost incurred in the production of
their products, and another function for the revenue (money
collected) that the company earns when the products are sold. In
preparing the report for the owner, the finance manager prepares
a graph which shows both the cost function and the revenue
function. The business owner, on seeing the graph of two parallel
lines, makes a major business decision. What might that decision
be and why would it be made?

6. Explain what it means for a system of two linear inequalities to

have no solution. Sketch a graph of such a system and write the
system of inequalities represented by your graph.
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3 | Chapter 3 Vocabulary Test/Review SCORE

bounded region elimination method linear programming system of inequalities
consistent system feasible region ordered triple unbounded region
constraints inconsistent system substitution method vertices

dependent system independent system system of equations

Choose from the terms above to complete each sentence.

1. A system of equations with no solutions is called a(n)

2. A(n) is a system of equations with
an infinite number of solutions.

3. (3, —2, 7) is an example of a(n)

4, If your first step in solving a system of equations is to solve one of the
equations for one variable in terms of the others, you are using the

5. In a linear programming problem, the inequalities are called

6. A set of two or more inequalities that are considered together is called

a(n)

7. If you are solving a system of equations and one of your steps is to add

the equations, you are using the

8. If you are solving a system of equations by graphing and your graph
shows two intersecting lines, the system can be described both as a(n)

and as a(n)

9. Graphing, the substitution method, and the elimination method are all

methods for solving a(n)

10. The process of finding the maximum or minimum values of a function

defined by a feasible region is called

In your own words—
Define each term.
11. feasible region

12. unbounded region
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Chapter 3 Quiz SCORE

(Lessons 3—1 and 3-2)

3

1. Solve the system x +y = 4 and x — 2y = 1 by graphing. 1. [y =
2. Graph the system y = x + 2 and 2y = 2x — 4. Describe GE)
it as consistent and independent, consistent and dependent, Q w
or inconsistent. X $
v
)
3. Solve the system 3y = 2x, y = %x — 2, by using substitution. 9 <
. y
4. Solve the system of equations by 4x — 5y = —2, and
3x + 2y = —13 using elimination. 0 x
5. Standardized Test Practice Compare the quantity in
Column A and the quantity in Column B. Then determine
whether:
A. the quantity in Column A is greater, 3
B. the quantity in Column B is greater, ’
C. the two quantities are equal, or
D. the relationship cannot be determined from the 4.
information given. 5
2x — 3y =2 )
bx +y =22
Column A Column B
x| Ly |
NAME DATE PERIOD

Chapter 3 QlliZ SCORE

(Lesson 3-3)

Solve each system of inequalities by graphing. 1. y
Lx—y>-3 2.y5%x+1
<
2c +y <6 y> %x _9
o X
2. y
(o] X
Find the coordinates of the vertices of the figure formed
by each system of inequalities.

3.x=0 4, y= -2

y=0 x=3 3.
2x +y=4 x+ty=2
y=2x—4
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3 | Chapter 3 Quiz SCORE

(Lesson 3—4)

1. A feasible region has vertices at (-2, 3), (1, 6), (1, —1), and 1.
(=3, —2). Find the maximum and minimum of the function
f(x,y) = —x + 2y over this region. 2.

2. Graph the system of inequalities. Name the coordinates
of the vertices of the feasible region. Find the maximum
and minimum values of the given function for this region.
dy =x + 12 [o) X
—4y=3x +4
bx —4y =4
flx,y) =x — 5y

A clothing company makes jackets and pants. Each jacket
requires 1 hour of cutting and 4 hours of sewing. Each pair

of pants requires 2 hours of cutting and 2 hours of sewing.

The total time per day available for cutting is 20 hours and

for sewing is 32 hours. 3.

3. Let j represent the number of jackets and let p represent
the number of pairs of pants. Write a system of inequalities
to represent the number of items that can be produced.

4. If the profit on a jacket is $14 and the profit on a pair of 4.
pants is $8, determine the number of each that should be
made each day to maximize profit. What is the maximum profit?

‘ NAME DATE___ PERIOD

Chapter 3 Quiz SCORE

(Lesson 3-5)

Solve each system of equations.

1. 4x + 6y — 3z = 20 2.3x —y+2z=1 1.
x—5y+z=-15 —2x = —4
—“Tx+y+2z2=1 x+3y=11 2.
Seox+2y—2=-17
3x — 3y +2z =13 3.

2c+ 5y +22=0

During one month, a rental car agency rented a total of
155 cars, vans, and trucks. Nine times as many cars were
rented as vans, and three times as many vans were rented
as trucks.

4. Let x represent the number of cars, let y represent the 4.
number of vans, and let z represent the number of trucks.
Write a system of three equations that represents the
number of vehicles rented. 5.

5. Find the number of each type of vehicle rented.
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Chapter 3 Mid-Chapter Test SCORE

(Lessons 3—1 through 3-3)

3

Write the letter for the correct answer in the blank at the right of each question.
1. Choose the correct description 3x—y=5
of the system of equations. 6x =2y +5

A. consistent and independent

-
c
(]
S
v
n
(]
vy
("]

<

B. consistent and dependent

C. inconsistent
D. inconsistent and dependent 1.

2. Solve 3x + 2y = 7 and x — 4y = —21 by using substitution.

A 3,-1) B. (g %) C. (-1,5) D. (1, 5) 2.
Solve each system of equations by using elimination.
3. 2x + 5y = 18 A (-1,4 B (9, %)
Sx — 2y =-11 C. (1,4 D. (-3,1) 3.
4. 3x — 5y =14 A. (3,-1) B. (8, 2)
2x +3y =3 C. (0,1 D. (6, —3) 4,
5. Solve 3x + y = —4 and x — 2y = —6 by graphing. 5. y
ol X
6. Solve 2x —y = —1 and x + y = 4 by graphing. 6. y
_ X
o
7. Classify the system as consistent 3x—y=5 7.
and independent, consistent and 6x = 2(y + 5)
dependent, or inconsistent.
8. Solve the system of inequalities 4 —y=4 8. y
by graphing. Jy<—x+6
9. Find the coordinates of the x= -2 o X
vertices of the figure formed y=6
by the system of inequalities. y= —%x +6 9
x+2y=4
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3 / Chapter 3 Cumulative Review

(Chapters 1-3)

1. Simplify %(Gx —91) — 4(x + 5). (Lesson 1-2) 1.

2. Solve 7 — 2(m + 3) = 4 — m. (Lesson 1-3) 2.

3. Solve the inequality | 3 + 2x | > 7. Then graph the solution 3.
set. (Lesson 1-6) ——————
BBEHMAmRO 0

[
T
12

4. Find f(2a) if f(x) = — x3 + 2x — 5. (Lesson 2-1) 4.
For Questions 5 and 6, state whether each equation or
function is linear. If not, explain. (Lesson 2-2) 5.

5. f0) =1 +5 6.y +x2=2 6.

7. Write an equation for the line that passes through (2, —3) 7.

and is parallel to the line whose equation is y = —4x + 3.
(Lesson 2-4)
8. Evaluate f(%) if f(x) = 5 — 3x. (Lesson 2-6) 8.
9. Describe the system of equations as consistent and 9.
independent, consistent and dependent, or inconsistent.
2 — 3y = 11
4x + 6y = 22 (Lesson 3-1)
10. Solve the system of equations y=2x+5 10.
by using substitution. 4x — 5y = —1
(Lesson 3-2)
11. Solve the system of equations y—3x=5 11.
by using elimination. 4x — 9y = —22
(Lesson 3-2)

For Questions 12 and 13, use the system of inequalities
x=1l,y=-2,andx +y=4.

12. Find the coordinates of the vertices of the figure formed by 12.
the system of inequalities. (Lesson 3-3)

13. Find the maximum and minimum values of the function 13.
flx, y) = y — 3x for the feasible region. (Lesson 3-4)

14. Solve the system of equations. 2c+y—32=9 14.
(Lesson 3-5) x—2y+z=-8
x+3y—2z2=11
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3 | Standardized Test Practice

(Chapters 1-3)

Part 1: Multiple Choice

Instructions: Fill in the appropriate oval for the best answer.

1. A number is 8 more than the ratio of ¢ and 2. What is three-fourths
of the number in terms of ¢?

A. 6 B. 5+ 3¢ c. 3 D. 6+ 34
8 8 8
2. Carlisle’s salary was raised from $19,000 to $23,750. Find the
percent of increase.

E. 20% F. 25% G. 30% H. 47.5%

3. Which of the following fractions is more than one-fourth but less
than three-eights?

A 2 B.

7 C.

D.

| Do
DO

3
4

4, If the area of a square is 49, the difference between the length of
a diagonal and the length of a side is .

E. V2 -1 F. 0 G. V2 H 1-V2
5. Which is not equal to V22
l 4
A. 22 B. V4 C. V27 D. V8
6. Find the area of the triangle at the right.
E. 32 F. 48 10 10
G. 60 H. 120

7. If m is an integer greater than 5, then
which of the following must represent an odd integer?

A. m? B.m-1 C.2m -3 D.m+2

8. Desiree and Mario together have $30. Mario and Scott together
have $26. Desiree and Scott together have $34. What is the least
amount of money any of them has?

E. $11 F. $15 G. $19 H. $26
9. If x, ¥, and z are negative integers, which of the following must

be true?

A x(y +2)<0 B. xyz2 <0
C.x—(y—2)<0 D.x<y-z
r+2_4 r_
10. IfT_ 3,then 5
1 2
E. 1 F. 3 G. 1 H. 3
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11.

12.

13.

14.

NAME DATE

Part 2: Grid In

Instructions: Enter your answer by writing each digit of the answer in a column box

and then shading in the appropriate oval that corresponds to that entry.

PERIOD

Standardized Test Practice (continued

If the operation * is defined by the equation 11.
a * b = ab — b2, what is the value of  in the

equation 4 % n = 47?

In a survey of high school sophomores,

60 students named Science as their favorite
subject. If 70% of the students surveyed had
a favorite subject other than Science, how
many sophomores were surveyed?

0808086806 |0
000006000800
©B0EHOLHEOI0
SIS IEIRISIS] Y

If figure RSTV is S T 13.

a parallelogram, 3y° v
what is the value

of x? X
R U

What number is in the hundreds place in the
product of 540 and 9?

080800606 0
000006606610
©B0PHEHEI00
SIS LEISISIS] ¥

Part 3: Quantitative Comparison

Instructions: Compare the quantities in columns A and B. Shade in
@ if the quantity in column A is greater;

if the quantity in column B is greater;

C© if the quantities are equal; or

@ if the relationship cannot be determined from the information given.

12.

0808086806 |0
000006000800
©B0eHOLHEOI0
SIS IEIRISIS] Y

14.

080800606 0
000006606610
©B0eHEHE00
SIS LEISISIS] ¥

Column A Column B

15. p=r3—4,q9g=r3+4

p q
16. % of 6¢ 0.4 X 2¢
17. 1/0.09 0.09
18. x <0

X6 XlO

x2 X6
19. 2x +1=13 and 5y = 14

2x S5y
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Standardized Test Practice
Student Record Sheet (Use with pages 150-151 of the Student Edition.)

Part 1 Multiple Choice )

Select the best answer from the choices given and fill in the corresponding oval.

3

1 PEOD® i 41 PDEPOD®  TEEPOD®D 9 DD
2 BEOD | FPDOOD 8§ DDOD 10 DB DO D
3T PEOD | BB D

(GERR B R e )

Solve the problem and write your answer in the blank.

For Questions 14-18, also enter your answer by writing each number or symbol in
a box. Then fill in the corresponding oval for that number or symbol.

11 i 14 i 16 i 18
12
DD DD DD
OO | OO OO
©N@©|D@ @© @@ O @@
13 DD|D|D DOD|D|D DOD|D|D
DDDDD D@D DDODD
[ EI €D ED) DD [ EI €D ED)
DDDD DOD@DD DDDD
GG EHED) O>®® GG ED)
O ® ®|® O® I®|® O® | ®©|®
DDD|D DD DD DDD|D
DD |D|® DD DD DD DD
15 17
DD DD
OO | OO
@© @@ O @@
DDD|D D D|D|D
D@ ODD|@
[ EI €D ED) DD
DDDD DDDD
[ SHGEED) GGG
O® N® | ® >N ® B> |®
DDD|D DD|D|D
DD DD DD D@

( Part 3/ Quantitative Comparison )}

Select the best answer from the choices given and fill in the corresponding oval.

19 & & O D 21 @B O D

N DEOD 2 DD D
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Answers (Lesson 3-2)

Z eiqabjy aoous|n [:YAN |lIH-MeIDHO\/800Us|D) ©
3 3 N 3 €
(9°v-) - ‘s (e-v) (e—"9)
¢ = ug + wy 9 =4z + ¥y 07 = 49 — L, 6=4»4-x

8— = Ug + WG "Gl ol— = &£ + ¥p—°T1 o1 = &% + %G 01 9— =48 + x¢ ¢

(e1-)  Auew Apuyu (1) uopnjos ou
g1 = Ag — 23 ar =4S 4xg  pI- =g - 9 y=%_xz
I-=4g + .8 8 =4+2g°L o1 = 4% + %G9 9=4~—-xp°¢g

(0v (1-2-) (v ‘eh) (1—‘¢)
0% = 4g + xg g=4My—x ol = 49 + x— 8§ =4A+xg
gr=4~-xgyp 01— =4y + x¢ g y=4g-x°g L=4&-xg°1

‘uoryeurwre Sursn £q suoryenbs Jo wra)sAs Yoes dA[0S

§961249X3)

(G— ‘g—) ST UOHM{OS Y, G- = x
o— = £ ge— = 61
0T = dg— 06— = 49 + x0T ZAIAMNN Gg— = £g + G
V= \\MN - 9- 21 = A9 — xg '€ Aq Adainy ¥y = Ag — xg
¥ =4 - (3-)e ‘9[qeLIeA £ 9U) 9jeUIWI[
b — (7 _ xe TqeT )} 9)eurl|

0} suorjenbe oY) ppe uayJ, ‘g £q uorenbe
puodes ay) pue ¢ Aq uoryenbe 1sayy oy A[dHMN
6%— = 4g + xg
¥ =4g — xg
‘suoryenba Jo wa)sAs aY) SAJ0S 0} POYIIW UOTJBRUIWI[D DY) 3S) 2 9duibxg
(g ‘L—) ST uornyos oy,

*A 10 9A[0S pue g— Ym x oe[dey

g=4 L— = x
er— = 4y— (s x0T —

92— =4y — yI— 96— = AF — ¥gT v kg Adnini ¥5— = £ — xg
92— = - (L-)3 95— = &F — 27 97— = & — xg
96— =W — g ‘o[qeLea £ oY) ajeurwife o} suoryenba ayy
*£ 10§ 9A[0s pue L — ym x 90e[doy | jorriqns wey], § £q uorpenbe puodes oy A[dNIA

¥o— =& —xg

93— = &y — a5

‘suorjenbo Jo woalsAs oY) A[0S 0} POYIoUW UOIJBRUIWI[S dY) 3S[) 1 2|duibxz
1930 9} Ul sey 91 sk uoryenbs auo
ur Juad1yyeo0d (931soddo 10) swes ay) SBY SI[qRLIBA 9() JO SUO JRY) 0S JuRIsu0d © A suorjenbs
a1} JO Yj0q 10 auo A[diynur 0) peau 3sa1j AeW NOZ "SI[qRLIBA 9() JO SUO 9)RUIWI[S 0} suorjenba
9} RIS I0 ppe ‘UoTjeUTWI[d Aq sUOHENbs Jeaul] Jo WYsAS ' 9A[0S OF, UOIjeUIwl|]
Ajjeareiqably suonenby jo swajsAs buinjos
(ponunuod)  YOTIUIAIIIUJ pUe IPIN9 Apnis z-¢

aord3d dlva EA

2 eiqabyy soous|n

4

scl

Auew Apnyuyui

IIH-MEIDOIN/200US|D) ©

(1)

0=4~4g—x 8 = AL + % €1 = Ag1 + xg
¥ = 4z + g 31 G =4g + x°1T ¥ = &F — x0T
4
(9-'8-) Am J|v (e— 1)
g =4g - g T=4~4+%p 0% = 4g —x
G- =4-x¢ y—=4—xg°8 g- =48 +x°L
(6— ‘¢) - ‘2-) uolnn|os ou
0=%-¢ 8— = £+ 1g VI = 4g — x9
9=4+2xG°9 ¥ =4g —xp°g L=4-%gF
(z21-) (L2 (oL “1-)
5 =4g+x € =Ag —xg 91 = 4g + *¥
g— =4¢g +xg°¢g G=4+23g L=~&+xg°T

‘uonnnsqns Suisn £q suorpenbos aeaul| Jo W)SAS Yoro dA[0S

23¢12.19%

(g~ ‘g) ST washs ayy Jo uonnos oy,

“1— Aq apis yoea Aidniniy e— =4

“BpIS YoBe WOl 9 J0rNANS e =A-
“Aydwis 6=4-9
‘g Uim x eoe|dey 6=4~4—-(8)3
uonenbae 1si14 =L —xg

*£ 10 9A[0S pue uorjenba [RUISLIO IOY)IO UT X I0J € SN[BA Y} 2JNIISANS ‘MON

"2 Aq epis yoes apinIq g=x
‘opIs Yoee 0} LZPPY TG = X,
Adwis 9— = 25 — XL

Auadoid sannquisig 9— =% — %9 + X
‘A 10§ 6 — Xg @INWSANS 9— =(6 —Xg)g + X
uoienba puodeg 9— =Ag + x
"X J0J 9AJ0S pue UOIyenbs PU0Iss a1} 0JUL £ 10J g — Xg UOIssaIdxa a1} 9InjIIsqng
"L Aq sapis yiog Adiinpy 6 —xg =4~
'SOpIS Yloq Woy X enans g 4 Xg— = A—
uoienba 1si14 6=A—xg

‘X JO suLIo) ut £ 10J uoryenbs 31sI1y oY) A0S
9— =4g +x
6 =& —xg ‘suorjenbo Jo wrd)sAs oY) SAJOS 0) UOTINIIISNS IS[) E

Kjrpdwts pue uoryenbe 1oyjo oY)
ojur uorssaadxa SI() JnJIIsqns Uay [, ‘suorpenbas oy} Jo aUO UT J8Y)J0 9Y) JO SULID) UL S[(RLIBA
U0 I0J SATOS }sIY ‘UorININsqns £q suorpenbe reaul] Jo walss © 9A10S 0, UOIINLISONS

Ajjeareiqabyy suonenby jo swoajsAs buirjos
UONUIAIIU] pue aping Apnis (z-¢

aoldad diva JANVYN

Glencoe Algebra 2

A5

© Glencoe/McGraw-Hill



Answers (Lesson 3-2)

Z eiqabyy 8oous|n 8zl [IIH-MEBIDON/200US|D) &

G| :SMOYS ‘Z| :S)o0S
Tk yore Anq wree) o) PIp S}I0YS pue s¥00s Jo sited Auew MOH ‘63

eve =481 + x9‘GLe = AL + XG 1BaL yors jysnoq

$3I0Ys pue s300s Jo sared jo Jequmu oy} sjuesaaded jey) suorpenbs om) Jo Wo)sAs B 9ILIMN ‘85

‘8T$ 1500 s3a0Us oY} pue ared B 9¢ 1500 MOU SID0S 9} 0SNEBI( S}I0YS pue
$3[00s Jo sared jo zoquinu owres 9y} £nq 03 gpeg yueds Loyj teof sIy, '¢1e$ Jo aseyoand 1810}
® uo s310ys 10j ared zod £ T1¢ pue syoos 10j ared 1od ¢¢ pred wea) [[eqLa[[0A oY) 180k Jse]

‘uoTjeULIOJUT SUIMO[[0] 9Y[) 9SN ‘g7 PUE 87 SOSIOIIXH 10 S1YOdS
uonN|os 9 = 2§ + Yg—

ou €=2-1

Am%vmu%+sm\
0 =dg — wy

(5—‘9) L =45 — Fg—
0T = o4 + 5558

(ez-)8-—=4%~-x
LG G = Ag + xG'0 *9g

(L) r=s
14 ¥ =Ag + s°gg

uonn[os 1 =P + 95—
ou ¢ =pg - 9738

€ 6 €
2 =2 x2
Auew = = I

Al@nuyul 21 = 4 — *¢ 13

(8°01) 95 =2 + by

Aml .mv €1— = 49 + x0T
0%— = 45T — bg 08

b
§— = Ag + x8 61

*UOT)RUTWI[d IO UOIINJIISqNS JoY)Io Suisn £q suorenbo Jo wro)sAs yoeo aA[og

(e‘y) LT = 4g — 8 (€°9) ¥1 = £ + 3
z Auew g— = ag — 71—
11 = 4g + R gl =4 —xg L1  A@Nuyul 9 = ay + 15 °91
(2— ‘v) 91 = yg — 5¢

9 =1y + 8g-cI

uonnjos 9 = 4g + xy—
ou H— =4 —xgp1

(89)9t=9-15
0T =¥ — fge1

(F‘L—) 31 =45 + g
9 = 4g + %9 3T

(6 ‘v) 08 = ug + wg
T— =4 — wg Il

(56— ‘g) oz =5-¢
G =5+2°01

‘uorjeurwId Sursn Aq suorjenbo Jo waysAs yoeoa aA[0g

(

|

)
b ) y- =2 - mg
T=2¢+m°6

(5— ‘L) 6=4—2 uON|OS OU G = g + n—

9T = g — x'8 £ _ag-ney

(p— ‘) T = u9 + wg Auew ¢- =gz + »-
9=u+wg'g Kayupur 9=9% — 2g¥

(g—‘e-) L= -~
9— =4g —*p°9

(e-'¢)1-=4+~
6=1~4-x7

(01— ‘2) 1=4g + ¢
y=4+2g1

uonn|os 6 =74 + mm
ou g8=yg+35g

‘uonn)sqns guisn £q suoryenbs Jo woISAs Yoro 9AJ0S
Ajjeareiqably suonenby jo swajsAs buinjos
(ebeseny) goMmPORId (Z-€

aord3d dlva EA

Z-€ uossa

2 eiqably soous|n 121 IIH-MEIDOIN/200Ud|) ©

€ ‘| "'sIequInu 0mj) 9y} Pul ‘6 ST IOqUINU JSITJ 9} SOWIT) 901} 0}
Poppe I9quInu puodds Y} 99TM], T — ST JOqUWINU PUOIDS B SNUTW ISqUNU € 9ITM], '9F

g ‘p "sIequnu oy} purf
‘f— ST SIOQUINU 0M) DUIRS 9} JO 9OUAISIIP Y], ‘gT ST SI9qUINU 0M) JO WNS Y], "CF

(5—‘e—) 6 =158 — g
T =S¢ — ¢ ¥e

(L v—) €=pg— 2%
G- =Pg+2°¢8

(02-)9=2—f%
9- =2 - 4g"25

(z2— ‘p) 91 = 45 — xg (2‘L=) s =9+ »g— UoIN|OS OU € = ag + 1

9 =4+ 315 I- =9+ Pg'0g 9— = ap + ng 6T
Auew Ajppuyul
(e€)o=p-2 8 =2y —mg (0‘e) 9— = bg + dg—
9=p+28L 9T = 28 — M9 ‘LT 9 = bg — dg 91
(Gg)r=~+2g Av.M|v =4+ (9°L) ¥ =1+ 45—
g1— =4g —x-g1 G- =4 - 2g ¥ G=17+4—"gI

*UOTJRUTWI[d IO UOIINIIISqNS JoYJId Suisn £Aq suorjenbo Jo wra)shs yoeos aA[os

uonnjos ou 9 = £ — g
gl =4 —xg g1

(L) =" +x
I— = £+ 2g—"TI

(L‘'e)e=5-4
6 = 5¢ + J2 01

(8 ‘9) 05 = p¥ + 2¢
% =DP%— 966

(I-‘De=9+£%
e=9-1Iz8

(1— @) g=b+de
g=Db-dgL

‘uonjeurwId Sursn Aq suorjenbo Jo uaysAs yoeo aA[0g

(2 °e) o1 =4¢ + g (oL—‘eL) e=2+79 (l-2) s=5-1

IT=4-x9 J— =98 + Q3 'C G=5+.u4gF
(@'e) a1 =2¢ + mg (z—‘€) 9=4g + 2 (eL'g) v—=u—w
I=z-mg g—=4g+x°g 0 =U+ w" |

‘uornisqns guisn £q suoryenbs Jo waIsAs yoro 9AJ0S

Ajjeareiqabyy suonenby jo swoajsAs buirjos
2J1peld SIS (z-€

aoldad diva JANVYN

Glencoe Algebra 2

A6

© Glencoe/McGraw-Hill



Answers (Lesson 3-2)

Z eiqabyy 8oous|n o€l |IIH-MEIDON/200US|D) &

(00s- “006)
(3eewr £ay) yorym je jurod

91[} JO S9JBUIPI00D 8} 1B JeUM ‘}98] ()0Z JO Yrdep e e jeew syeys o) JT
00€T = £ + xg
0071 = £ — x

‘suorjenbe Surmor[oy oy jo syjed oyj Suofe Snp aae s}yRYS SUIW OM], '€

(e‘2)

¢ssoxo syjed ySiyJ a1e) [[im jutod JBYM JE ‘SOUI| dUIeS

oy} Suore enuryuod Loy J] ‘6T = A¢ + xg aul] oY) Suore Surpeaer) ouedire
I9Yjoue S90S J1 Uaym [— = A — x aul] oY) Suofe SulpeAri) si sue[dire Uy g

(€°2)

‘1] 91[} JO S9JRUIPIO0D O} PUL]

e1 = Ag + xg :g uorpe)g IeSuey wWoI]
6 = £ + xg 1y uorje)g Jeduey WoL]

'SMO[[0] S oI' AI1J 15010] © 03 JYSIS Jo soul] oy, ‘T

*SuImo[[o] 9Y) 9A[0S

*(G ‘9) 9Ie YSBID 9} JO SOJBUIPI00D Y],

G=4A

6T = 4g
xJojgemsans g = A¢ + 9
18 = 4g + x

9=x

Y8 = *¥

18 =¢— %+
‘A 104 | — X @ynpisgng 16 =(I —%g + %
18 = 4g + x
g =4Ag +x

[_x=« W suorjenba Jo wa)sAs a3} 9A[0S

{PO1IMd00 Yysead oy}

Yorym e jurod oY) JO S9JRUIPI00d 9y} oI 1BYM ‘g = Ag + X Aq UoAIS ST JySis
Jo aurf a1} ‘purod UOT)BAISSQO JOYjoUR WO "oul] 1ydresss e ur aue[d ay) 0}
qutod UOTIBAISS(O Y[} WOJ 90UB)SIP 81} SALIISOP uorjenba sIy], T — ¥ = 4
Aq uoA1d st aued peumop B 03 JYSIs Jo aul[ oY) ‘purod UOIJBAISSO SUO WOI]

sajeuipioo) buisn

yuadunypuuy (z-

aord3d dlva EA

Z-€ uossa

2 eiqabyy soous|n 62l IIH-MEIDOIN/200US|D) ©

*suolenba jeuiblio ay} jo auo uj
punoj aney noA anjea ay} bunnuisqns Aq ajqeriea 1ayjo ayj jo anjeA ayj
pul noA ‘sajgelien ayy Jo auo jo anjea ay} buipuyy Jayy 1amsue ajdwes

spoyzour yjoq

ur owres ay) st dojs Jeyp| "UOWWIOD UT 9ABY SPOYISUW Y[} JBYM 991j0U NOK JI A[ISBd 10U

W) I9QUOUWISI 01 9[qB 9 AW NOX "WYY} IOQUIOWL 0} J[NOLIIP oq Aewr 41 pue ‘sdols
[BI9ASS 9ARY [}0( SWIOISAS FUIAJOS 10] POYIOUW UOIJRUIWI[® PUEB POYJOW UOHNIIISqNS oY, ‘€

Joquioway nox Surdfey

uollenba 1si1y ayj o} }nsal ay} ppe uay} pue g

Aqg uonenba puodas ay} Aldiinw A sjqeriea ay} ajeulwi|g :1amsue djdwes
*STUYJ OP P[NOM NOA MOY OQLIISA(] (PIRUTWII[O NOK

pInom s[qeLIeA yorym ‘9[qissod se Ases SB JI0m IN0K o'W O,

68 = € —x,
G- =g + x5

‘poylew uoryeuIwWI[e 8y} £q 1ySL oy} je
suoryenba Jo welsAs 9} 9A[0S 01 paysk aIe nok jeyy asoddng g

"1 JO UaI91}}909 e sey A a|qgenien ay} uonenba

1By} ul asnedaq A 10} uonenba puodas ay) an|os :1amsue ajdwes
‘ure[dxy ;9[qRLIBA YOIYM J0J 9A[0S NOK p[nom uoryenbs yorygm

‘o1qissod se Aseo se YIom INoL 9ew 0, 930 o[} JO SULIOY UL

9[qBLIBA 9UO J0J SUoIIeNnba 9Yy) JO oUO0 9A[0S 03 ST dols )sI1J oY,

6— = £+ g
L =g -y

‘poyjew uonnjsqns oYy £q JyS oy e
suoryenbe Jo wasAs 9} 9AJ0S 03 paysk are nok jey) asoddng |

uossa ay} Huipeay

‘€L + Y0’ L$ puld ¢(emurm tod

9Bl 9Y) pulj NoL Ued MOY ‘DA0qE SuoI)sanb oy} 10J sTomsue Inok Suis() e
v0'1L$

jsedreyo Arenuep oy) UeRY) SOSIRYD ATRNIQS,] O} 910M SI0W [ONW MO e
sajnulw g (Arenuep ur ueyy Areniqoq

Ul 9SN BPUB[OX PIP W} 90UR)SIP SUO[ JO SOINUIW 2I0W AUBW MOH e

*3jj00q)x03 anok ut 91T 98ed jo doj 9y} Je Z-g U0SSar] 03 UOIJONPOIIUL S} PeaY

SUOISTOOP
JOWINSUOD JYEUI 0} PAsh oq suolyenbs jo sweysds ues mof A}IAIDY-2.d

Ajjeareiqabyy suonenby jo swoajsAs buirjos
soneuwyley uied] o) buipeay (z-¢

aoldad diva JANVYN

Glencoe Algebra 2

A7

© Glencoe/McGraw-Hill



Answers (Lesson 3-3)

Z eiqabjy aoous|n zelL IIH-MBIDHIN/000Us|D &
S v
T—ge—)or+x>4 . T-x<A R
Ae € . (°e) ‘—'e-) e=re) .
(@ (we-)1+xp<4 ‘e=) e+xr->4 ="p=) (1) *y >4
g+r->ag g—<x7g L+%g—= £
‘sarjirenbour

Jo wo)sAs Yoo Aq pourioy 2anSIy oY) JO SOOTLIA 3Y) JO SIJBRUIPIOOD 3Y) Pul]

3381249%7)

.AWN\ hMN\V pue ,Amﬂu Am‘wﬁv ‘(0 ‘¥) oI SOOIYIDA 991} 9} JO SOJRUIPI00D 9} ‘SN,

.AMNI "WNIV AR CUREY
PITY) 9Y) JO S8)RUIPI00d JY, Amﬂﬁv "m%v aqB X01I9A PUOJSS 9] JO S9JRUIPIO0d 9],
g
2 _ _ K 18
11 i £
g
2 _f €1
€+ 9% e— =4£— oT
g
2 )z =f €T
m+Amﬁ vm m|ua|Aﬂvm
‘£ 10 9A[0S 03 uoryenba 3s11y £ 10§ OA[0S pUB
oy ur %I = ¥ 9)NITSNS WY, suorenbe [eUISLIO 8Y) o SUO UL m% = X 9MIMsqns udy,
S _ £ _ x
er 8
€T = XG— 8 = x€1
y=6-%-% 06 =&+ (+) 0% = & + xg
¥ =(€+x)g—-x ZI— = &F — x8 vhghdunn g— = £ — xg
108 03 uorjenbe puooes “uoryenba
oY) ur £ 105 ¢ + Xg AMINSqNg Puodas a1} 03 ppe pue § Aq uorpenbae jeyy Adynw
‘uornyrsqns asn ‘suorjenbe uoy [, '¢— = £ — Xg Sk uLI0] paepue)s ur uorjenbe
JO we)sAs puodes o} J0] 1SI1J Y[} 9JLIMAI ‘SUoIjeNDO JO WISAS ISITJ O} 10
d y=4g —x 0% = 4% + xg
N L et grag=a P Teixg_%
x [N 47T Jol/ suorjenbe jo swoa)sAs
<" T ! 0M} 9} SAJOS ‘SOOTLI9A PIIY) PUB PUOISS ) JO SOYBUIPIO0D
AN \ oY) puy of, 'ydeis oy} Wolj PoUIULISIdP 8q UBD (() ‘F) XOII0A 9],
N/ ‘o[SuBLI] B JO SOOILI9A 9} Al SaUl] Arepunoq
~ a1[} JO suorjresIalul 8y, AyTenbaut yoes jo Arepunoq oy ydern
AR

F > £g — x pue ‘g + xg > £0g > &p + Xg
£q pauLiO} 9anZ1J 9Y) JO SIIIJIIA Y} JO SIIBUIPI00D 3} purLf E

‘uorjeUIWI[e J0/pue ‘uonninsqns ‘Surydeas :1ejdeyd Sy} UL JOI[IBd Pasn SpoyjewW ayj Jo
uorpeuIquIod B £q U0LSal Y} JO SOO11I9A 9} PUIJ UBD NOX "UOL3aI PapUNOq & SULIO] serjIfenbeaur
Jo wegsAs e jo ydeas oy sewnowog CO_@wm _m:om>_0n_ e JO S3JILIBA pul4
buiydein Aq sanenbauj jo swajsAs buinjos
(ponuuo’)  YOTIUIAIIIUJ pUe IPIN9 Apnis fg-¢

aord3d dlva EA

Z eiqabjy 8oous|n L1 IIIH-MBIDH\/000Ud|D) ©
R - X \0
el 47 4|
Pl k4 ) B
Ea o4~ 5 S
£ £ B A
J— >4y + X y=4g —x g<A-—xg
9<Ag—x'6 g>4g+x°g p=L+x°y
\ \ 7
el o X o 3
~ \ b s
AN -1 7
] 1-t71Y *W
1 |« AY 4
A £ I3}
T-%>4 T+ %g— >4~ xg > &
voo_ e £ . % _ .
T+y-=49 T+ >Ag e-5=4%
™~
>~ ~
X ] X o
X
£ £ £
<X GI-=4&p +x T=4g+x
1=040¢ 1-=4g—x¢'g g=4—x°1

‘durydeas £q sonyienbourt Jo wa)sAs yoeo aA[0g

6381243X79

‘sonITenbaurt Jo wasAs ay) Jo 39S UOHN[OS B}
ST YOTYM ‘T UOL30Y ST SUOISaI 9S0Y) JO UOTIDSIONUT A,

2 ‘¢ pue T suoidoy s1g + W < £ 3o uorynjos ayJ,

\\LIL,M:
,

r ‘% PUR T SUOI39Y SI T — xg = £ Jo uomnjos ayJ,

A [T TT] -8urqdead £q sanyipenbout jo waysAs ay) dA[0S E

sydeas oy Jo uoryoasIayul o) Aq pajussaxdal s Jos uornos oy, ‘due[d 9)eUIpI00d SWES Y} UL
serirenbaut oy} ydeis ‘senjienbaut Jo we)sAs B 9A[0S 0OF, mw_u.__mswuwc_ jo we:w«m>m r_Qm D)

buiydein Aq sanijenbauj jo swajsAs buirjos
UONUIAIIU] pue apins Apnis (g-¢

aoldad diva JANVYN

Glencoe Algebra 2

A8

© Glencoe/McGraw-Hill



Answers (Lesson 3-3)
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Answers (Lesson 3-5)
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Answers (Lesson 3-5)
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Answers (Lesson 3-5)
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Chapter 3 Assessment Answer Key

Form 1 Form 2A
Page 149 Page 150 Page 151
1. D 12. A 1. B
9 C 2 L
3. _A 13. B 3. B_
14. _C
4. A 15. D 4+ D
5. C_ 5. B
6. A
B
6. —— 16. B
7. A
7. C 7. C
D
8 18. A
8. A
9. C
9. D
19. B
B
10. B 10. D
20. A
11. B _ B
B: 4 units? 11. _2
(continued on the next page)
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Form 2A (continued)

Chapter 3 Assessment Answer Key

Page 152
12. B
13. _A
14. D
15. _C
16. _C
17. D
18. _C
19. _A
20. _A
9
B: 8

© Glencoe/McGraw-Hill

Form 2B
Page 153
1. _A
2. A
3. _B
4. A
5. C
6. B
7. A
g. D
9. D
10. D
11. _C

A18

Page 154

12. _A

13. _B

14. _C

15. _C

16. _ D

17. _A

18. . B

19. _C

20. _C

B: a=2,b=4,c= 1,

d=3,f=0
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Chapter 3 Assessment Answer Key

Form 2C
Page 155 Page 156
LK 13, (=2,-3),(=2,9),
yAuR (2,5)
o X 14, Max: f2,5) = 1;
/ min: f(—2,9) = —15
2 vy
15. €=0,b=0,
- /1] 6¢c + 30b = 600,
: c+b=60
/1]
16. 50 cars, 10 busses
no solution
3. consistent and
independent
4. consistent and 0.1. —1
dependent 17. (0,1, )
5. 4,1)
6. ©.4) 18, (=1,2,1)
7. (2,1)
8. (25 _2)
9. y *\ ,l
(o) /' X
A 19. S+ m+£€=9
10. yI [ A 75+ 12m + 15¢ = 86
/ m=3¢
o " 20. 5 small packages,
¢ 3 medium packages,
¥ 1 large package
11. (_2’ _3)5 (2! _3)5 .
(2, 5) B: 20 units
12. (=2, 0), (3, —95),
(3,2), (0, 4)
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Chapter 3 Assessment Answer Key

Form 2D
Page 157

1. Ty

(4,1)

inconsistent

ol

. consistent and

N

independent

(4, 6)

4

6. (_2! _8)

(_1’ 3)

N

(2, _2)

7\
(o]
<

10. y 4

y

ol X
»
11. (=3, —2), (0, —2),

(_35 4)
12. (_1’ _3)’ (_45 0)5

(0, 3), (2, 3)

© Glencoe/McGraw-Hill

Page 158

13. (_55 7)5 (15 7)5 (_1’ 3)

14. max: f(1, 7) = 10;
min: f(—5,7) = -8

15.620,V24,
v+€=15

16. $138

17. (—2, 3, 5)
18. (35 1; _4)

19. w=2h,t=h—4,
3w+ 2h + 5t= 136

20. $24

B: (12, —8)

A20
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Chapter 3 Assessment Answer Key

Form 3
Page 159 Page 160
1. y 13. (_35 _4)! (_3! 1)!
5 (0, 4), (3, 2)
(8 o) 14. max: f(3, 2) = 8;
P min: f(-3,1) = - 12
2 y A
//
[o) X
)@ o)
A1\
F$r 1 X
] 15. 60a + 150m = 900,
3. consistent and a=3.m=4
dependent ’
4. ___inconsistent 16. 5 ads and
4 commercial minutes;
124,000 people
5. (_25 6)
. 1 2
6. no solution 17, (5’ 3 5)
a1 (l —1 21)
7. ( 3, 4) 18' \5’ i 7
8. (1.5, —2)
9. y 7
_o
19. s=3a,m=a—-10,
10. v 15s + 40a + 5m = 2650
Y~_~ o X
~Fe L 20. $90
= Y
11. (_6s 3)! (2! 3)s
2,-4),(1,-4
( ): ( ) B: (6, 2)
12. (_25 4)! (5! _3),
(5, —4), (1, —4),
(_2s 2)
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Chapter 3 Assessment Answer Key

Page 161, Open-Ended Assessment

Scoring Rubric

Score | General Description Specific Criteria
4 Superior » Shows thorough understanding of the concepts of solving
A correct solution that systems of linear equations by graphing, by substitution,
is supported by well- and by elimination; solving systems of inequalities by
developed, accurate graphing; solving problems using linear programming; and
explanations solving systems in three variables.
» Uses appropriate strategies to solve problems.
» Computations are correct.
» Written explanations are exemplary.
» Graphs are accurate and appropriate.
e Goes beyond requirements of some or all problems.
3 Satisfactory » Shows an understanding of the concepts of solving
A generally correct solution, systems of linear equations by graphing, by substitution,
but may contain minor flaws and by elimination; solving systems of inequalities by
in reasoning or computation graphing; solving problems using linear programming; and
solving systems in three variables.
» Uses appropriate strategies to solve problems.
» Computations are mostly correct.
» Written explanations are effective.
» Graphs are mostly accurate and appropriate.
» Satisfies all requirements of problems.
2 Nearly Satisfactory * Shows an understanding of most of the concepts of
A partially correct solving systems of linear equations by graphing, by
interpretation and/or substitution, and by elimination; solving systems of
solution to the problem inequalities by graphing; solving problems using linear
programming; and solving systems in three variables.
* May not use appropriate strategies to solve problems.
» Computations are mostly correct.
» Written explanations are satisfactory.
* Graphs are mostly accurate.
» Satisfies the requirements of most of the problems.
1 Nearly Unsatisfactory » Final computation is correct.
A correct solution with no » No written explanations or work is shown to substantiate
supporting evidence or the final computation.
explanation e Graphs may be accurate but lack detail or explanation.
 Satisfies minimal requirements of some of the problems.
0 Unsatisfactory » Shows little or no understanding of most of solving
An incorrect solution systems of linear equations by graphing, by substitution,
indicating no mathematical and by elimination; solving systems of inequalities by
understanding of the graphing; solving problems using linear programming; and
concept or task, or no solving systems in three variables.
solution is given » Does not use appropriate strategies to solve problems.
» Computations are incorrect.
» Written explanations are unsatisfactory.
» Graphs are inaccurate or inappropriate.
» Does not satisfy requirements of problems.
* No answer may be given.

© Glencoe/McGraw-Hill

A22 Glencoe Algebra 2



Chapter 3 Assessment Answer Key

Page 161, Open-Ended Assessment
Sample Answers

In addition to the scoring rubric found on page A22, the following sample answers
may be used as guidance in evaluating open-ended assessment items.

1. Let J = Janet’s age, K = Kim’s age, and
S = Sue’s age.
J2=(K+82+400and K+ S =< — 10
J? = (J — 10)2 + 400
J?2 =J2% - 20J + 100 + 400
20 = 500
J =25
Thus, K + S =25 — 10 or 15 and
J + (K + S) =25+ 15 or 40. Therefore,
(J + K + S)2 = 402 or 1600.

2a. x =0
y=0

yS—%x-i—S

2b. Sample answer: Evaluate f(x, y) at each
of the vertices of the region.

3. Student responses should indicate that
the solution of a system of equations is
an ordered pair representing the point
at which the graphs of the equations
intersect. Solutions should include the
fact that a system may have no solution,
indicating that the graphs of the lines
are parallel and that a system may have
an infinite number of solutions,
indicating that the equations represent
the same line.

© Glencoe/McGraw-Hill A23

. Students should demonstrate an

4. Student responses should indicate that

it is impossible for a system to be
both inconsistent (a system of non-
intersecting lines) and dependent
(a system of two representations of
the same line).

understanding that, if the graphs of the
cost and revenue functions are parallel,
the cost and revenue have the same rate
of change. This means that the company
will never break even on the production
and sale of these products and, therefore,
never make a profit. The owner may
decide to increase the price charged for
the product, may look for ways to cut
costs, may put the company resources
into the production of other products, or
may even decide to close up shop.

. Students should indicate that a system

of two linear inequalities has no
solution when there are no ordered
pairs which satisfy both inequalities.
Graphically, this means that the shaded
regions which represent the graphs of
the inequalities do not intersect.
Students’ graphs should show two
parallel lines with shading everywhere
but between them.

Sample answer: x = —3,x = 2

Glencoe Algebra 2



Chapter 3 Assessment Answer Key

Vocabulary Test/Review
Page 162

1.

2.

3.

10.

11.

12.

inconsistent system
dependent system

ordered triple

. substitution method
. constraints

. system of

inequalities

. elimination method

. consistent system

independent system

. system of equations

linear programming

Sample answer: In a
linear programming
problem, the region
that is the
intersection of the
graphs of the
constraints is called
the feasible region.

Sample answer:
When a system of
linear inequalities is
graphed, if the
solutions form a
region that is not a
polygonal region,
then we say the
region is an
unbounded region.

© Glencoe/McGraw-Hill

Quiz (Lessons 3-1 and 3-2)
Page 163

1. [y

inconsistent

3. ho solution;

inconsistent system

4, (_35 _2)

5. A

Quiz (Lesson 3-4)
Page 164

1. max: f(1, 6) = 11;

min: f(1, —1) = -3

2. [ ] y 4’4%
[ fp?
]
7(54’3/
§ /
\\0 /
h X
\0,D1)X
/1N
// N
/
¥
vertices:

(_4! 2)! (41 4)! (0! _1);
max: f(0, —1) = 5;
min: f(4,4) = —16

3. j=0,p=0,

j+ 2p =20,
4j+ 2p = 32

4. 4 jackets and

8 pairs of pants;
$120

Quiz (Lesson 3-3)

Page 163
1 y#
\\’,
LAY
A Ay
7
td \
\
o X
2. y
—
I~
L~
o L%

3._(0,0),(0,4),(2,0)

4. (1, —2), (2, 0), (3, —1),

(35 _2)

A24

Quiz (Lesson 3-5)
Page 164

1. (_15 25 _4)

2. (2’ 3! _1)

3. (15 _25 4)

4. X+ y+ z=155,

xX=9y,y=3z

5. 135 cars, 15 vans,

5 trucks

Glencoe Algebra 2



Chapter 3 Assessment Answer Key

Mid-Chapter Test Cumulative Review
Page 165 Page 166
1. _C 1.
2.
9 C {x| x< —5o0r x>2}
[ 3. _or (==, —5) U (2, +x)
DD

ooHMmmol 01 2

4. —8a+4a-5

3 A No, because the variable
R appears in a
5. denominator.
No, because x has an
4. A 6. _exponent other than 1.
7.
5. * y
\
(2, 2) 3_7
\ 8. 8
(o) X .
3 consistent and
6. A 9. _ independent
(1,31
_ X
(o)
10.
7. consistent and
dependent
11.
8. v ]
~.| [/
AN
SH
Y11 12. _(1,3),(6,=2), (1, =2)
9. (_21 3)! (_2’ 6)5 max: f1,3) = 0;
(0, 6), (4, 0) 13. min: (6, —2) = —20
14.
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Standardized Test Practice

Page 168

Page 167

11.

1. & O D@

2. ® © @
3. ® B> © D

13.

4. & & © @

5 BB © D@

6. &>® & D

7. OB © D

15, &> ® © @

8. ®&® ©&© W@

16 ® & © @

17. ® & © @

9. > ® © D

18. ®® © @

10, ®&® © @

19. ®® © @
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